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)
Ψ(r) +

1

2
V0Ψ
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Ψ(r) =

⎛
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Ψ+(r)

Ψ 0 (r)

Ψ−(r)
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Fx =
1√
2

⎡
⎢⎢⎢⎣

0 1 0

1 0 1

0 1 0

⎤
⎥⎥⎥⎦ , Fy =

1√
2

⎡
⎢⎢⎢⎣

0 −i 0

i 0 −i

0 i 0

⎤
⎥⎥⎥⎦ ,

Fz =

⎡
⎢⎢⎢⎣

1 0 0

0 0 0

0 0 −1

⎤
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F+ =
√

2
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⎢⎢⎢⎣

0 1 0

0 0 1
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⎤
⎥⎥⎥⎦ , F− =

√
2

⎡
⎢⎢⎢⎣

0 0 0

1 0 0

0 1 0

⎤
⎥⎥⎥⎦ . 1&�!3
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Ψr(r) =
∑
k

ar(k)
1√
V

eikrχ(1)
r , '(�()*

Ψ†
r(r) =

∑
k

a†
r(k)

1√
V

e−ikrχ(1)
r

†
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r(k), a†
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′)] = δr,sδ(r − r′), '(�(/�*
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[Ψ†
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†
s(r

′)] = 0. '(�(/ *
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H =

∫
d3r

{
Ψ†

r(r)

[
− �

2

2M
�− μ + U(r)

]
Ψr(r) − �ωLΨ†

r(r)(Fz)rsΨs(r)

+
1

2
Ψ†

r(r)Ψ
†
r′(r)V

rs
r′s′Ψs′(r)Ψs(r)

}
,


����


���� μ � ������ �������	�� ωL = gμBB
�

� ������������������ ���

V r′s′

rs = cnδrsδr′s′ + cs(F)rs(F)r′s′ 
����
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���'
 "�(��	�� ����) �� ���*����) ����	�

��������+

H =
∑
k

(ek − μ)a†
r(k)ar(k) −

∑
k

�ωL(F̂z)rsa
†
r(k)as(k)

+
1

2V

∑
k1+k2=

k3+k4

a†
r′(k1)a

†
r(k2)V

r′s′

rs as(k3)as′(k4), 
���,


���� ek = �
2k2

2m
� �������$� ��������

& ����� !������������	��� ������	�� ���� � ��������) ����������������	��%��+

a± → a±eiϕ± 
���-�


a 0 → a 0e
i 1
2
(ϕ++ϕ−). 
���-.


/� ���������� ���� �

ar → are
i(φ+rϕ) 
��'0


����������������	��%���� ���� φ = (ϕ+ + ϕ−)/2 �� ϕ = (ϕ+ − ϕ−)/2� !� ϕ = 0� ����� �

����������������	��% � �����������	� �������"	�	�� �� φ = 0� ����� � �	������������
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〈Ψ(r)〉 =
√

nc(r)ζr, ������

�#
� nc(r) = Nc(r)/V � 	
��
������ �&�&���
 �� ζr �� ���������
�� ����
�� "		
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H =

∫
d3r

(
�

2

2M
(∇√

nc)
2 +

�
2

2M
(∇ζ†

r)(∇ζr)nc − (μ − U(r))nc

−�ωL 〈F〉nc +
n2

c

2
(cn + cs 〈F〉2)

)
,

������

�#
� 〈F〉 = ζ†
rFrsζs�

�
�
��� 
�
�
� '������'�

H =

∫
d3r

(
−μnc − �ωL 〈F〉nc +

n2
c

2
(cn + cs 〈F〉2)

)
. ����)�

"�� � 	�*
�
���� 	
�� ������������� nc(r) �� ζr �〈F〉� ��
����� + �
�
���� *,�� � cs �������
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• �� cs > 0. �		
� 〈F〉 = �ωL

csnc
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�
������� �� �� ���� ��	 
�������

�
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• �� cs < 0� ����� |〈F〉| = 1� ����� �� ������� � ����������
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U(Θ, α, β, γ) = eiΘeiFxαeiFyβeiFzγ, )��*+,

	��� 	 Θ �	�	�
���  ������� 	 �������� ���$
��� U(1) ���������
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� α, β, γ 	� �"���#
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〈ar (0)〉 =
√

N cζr, �-����〈
a†

r(0)
〉

=
√

N cζ
†
r , �-��	�

�"�� Nc � ��
��
�����	�
 ��%# 
$��� ��$� ����� $� ζr �)* 
�
���� ���
�
� .��,��(� nc�%��

� ��
��
����� 
$��� ����/
/�$)$�0 nc = Nc

V
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������ %�
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br(k) = ar(k) − δk,0

√
Ncζr, �	
	��

b†r(k) = a†
r(k) − δk,0

√
Ncζ

†
r . �	
	
�

� �������������� ������ ��� ���� ������ �����  � ���!����� �"������ #������ �� �� � �$�

����� ���� 〈br(k)〉 = 0  �
〈
b†r(k)

〉
= 0� ���� �� ��������� � �����������$� ������� ������
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 %������&�� 
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�#������� �"�������� �� ������ �������

� ��
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�"������ �	
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H =
∑
k

(ek − μ0)b
†
r(k)br(k) +

∑
k

[(μ0 − μ)δrs − �ωL(Fz)rs]b
†
r(k)bs(k)

− (μδrs + �ωL(Fz)rs)
√

Nc

(
ζ†
rbs(0) + ζsb

†
r(0)
)

+
1

2V

∑
b†r′(k1)b

†
r(k2)V

r′s′

rs bs(k3)bs′(k4)

+

√
N c

2V

∑
b†r′(k1)b

†
r(k2)V

r′s′

rs bs(k3)ζs′δk4,0 +

√
N c

2V

∑
b†r′(k1)b

†
r(k2)V

r′s′

rs ζsδk3,0bs′(k4)

+

√
N c

2V

∑
b†r′(k1)ζ

†
rδk2,0V

r′s′

rs bs(k3)bs′(k4) +

√
N c

2V

∑
ζ†
r′δk1,0b

†
r(k2)V

r′s′

rs bs(k3)bs′(k4)

+
Nc

2V

∑
b†r′(k1)b

†
r(k2)V

r′s′

rs ζsδk3,0ζs′δk4,0 +
Nc

2V

∑
b†r′(k1)ζ

†
rδk2,0V

r′s′

rs bs(k3)ζs′δk4,0

+
Nc

2V

∑
ζ†
r′δk1,0b

†
r(k2)V

r′s′

rs bs(k3)ζs′δk4,0 +
Nc

2V

∑
b†r′(k1)ζ

†
rδk2,0V

r′s′

rs ζsδk3,0bs′(k4)

+
Nc

2V

∑
ζ†
r′δk1,0b

†
r(k2)V

r′s′

rs ζsδk3,0bs′(k4) +
Nc

2V

∑
ζ†
r′δk1,0ζ

†
rδk2,0V

r′s′

rs bs(k3)bs′(k4)

+
N

3
2
c

2V
ζ†
r′ζ

†
rV

r′s′

rs ζsbs′(0) +
N

3
2
c

2V
ζ†
r′ζ

†
rV

r′s′

rs bs(0)ζs′ +
N

3
2
c

2V
ζ†
r′b

†
r(0)V r′s′

rs ζsζs′

+
N

3
2
c

2V
b†r′(0)ζ†

rV
r′s′

rs ζsζs′ +
N2

c

2
ζ†
r′ζ

†
rV

r′s′

rs ζsζs′ − �ωLNcζ
†
r(Fz)rsζs − μNc

�	
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,�� ��������$� �����#� ��#���$� �
∑

k μ0b
†
r(k)br(k) ������ ���� μ0 ��� ����� ���
�� ���
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�
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k μb†r(k)br(k) ��������
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Grs
γδ(k, τ) = −

〈
Tr[b

γ
r (k, τ)bδ

s

†
(k, 0)]

〉
, *+�,	

�"��

bγ
r (k) =

⎧⎨
⎩ br(k) , ha γ = 1

b†r(−k) , ha γ = −1
. *+�-	
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 Tτ � τ 
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br(k) = ar(k)� b†r(k) = a†
r(k)� 2���� �� �
�����
 $���
��%����
 �� ���
�
�
 ����
��

��
�
���
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������( ������������ ���������
�� τ 
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��� �� 
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Grs
γδ(k, iωn) =

1

β�

∫ β�

0

dτeiωnτGrs
γδ(k, τ), *+�4	
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n(k) =
∑
q

a†
r(q)ar(k + q), *+�,�-

Fz(k) =
∑
q

a†
r(q)(Fz)rsas(k + q), *+�,�-

F±(k) =
∑
q

a†
r(q)(F±)rsas(k + q), *+�,�-

FQ
± (k) =

∑
q

a†
r(q)(F 2

±)rsas(k + q), *+�,�-

σrs(k) =
∑
q

a†
r(q)as(k + q), *+�,�-
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Dnn(k, τ) = − 〈Tτ

[
n(k, τ), n†(k, 0)

]〉
, *+���-

Dnz(k, τ) = − 〈Tτ

[
n(k, τ),Fz

†(k, 0)
]〉

, *+���-

DnQ(k, τ) = −
〈
Tτ

[
n(k, τ),FQ

+

†
(k, 0)

]〉
, *+���-

Dn−Q(k, τ) = −
〈
Tτ

[
n(k, τ),FQ

−
†
(k, 0)

]〉
, *+���-
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Dzz(k, τ) = − 〈Tτ

[Fz(k, τ),Fz
†(k, 0)

]〉
, ������

DzQ(k, τ) = −
〈
Tτ

[
Fz(k, τ),FQ

+

†
(k, 0)

]〉
, ����	�

Dz−Q(, τ) = −
〈
Tτ

[
Fz(k, τ),FQ

−
†
(k, 0)

]〉
, ����
�

D++(k, τ) = − 〈Tτ

[F+(k, τ),F+
†(k, 0)

]〉
, ������

D+−(k, τ) = − 〈Tτ

[F+(k, τ),F−
†(k, 0)

]〉
, ������

D−−(k, τ) = − 〈Tτ

[F−(k, τ),F−
†(k, 0)

]〉
, ����
�

DQQ(k, τ) = −
〈
Tτ

[
FQ

+ (k, τ),FQ
+

†
(k, 0)

]〉
, ������

DQ−Q(k, τ) = −
〈
Tτ

[
FQ

+ (k, τ),FQ
−

†
(k, 0)

]〉
, ������

D−Q−Q(k, τ) = −
〈
Tτ

[
FQ

− (k, τ),FQ
−

†
(k, 0)

]〉
. ������

������� �
��� ��
� n†(k) = n(−k), Fz
†(k) = Fz(−k), F±

†(k) = F∓(−k) �� FQ
±

†
(k) =

FQ
∓ (−k). ������������� �
� ��������� ���� ��!!���"�#� 	�

����� ��

Dsr
r′s′(k, τ) = −〈Tτ [σrs(k, τ)σs′r′(−k, 0)]〉 , �����

������$� � 	������ %�&����� ��!!���"�#� 	�

������ �'����� ��
��������#��(

Dnn(k, τ) =
∑
r,s

Drr
ss(k, τ), ����)��

Dnz(k, τ) =
∑
r,s

sDrr
ss(k, τ), ����)��

DnQ(k, τ) = 2
∑

r

Drr
+−(k, τ), ����)"�

Dn−Q(k, τ) = 2
∑

r

Drr
−+(k, τ), ����)%�

Dzz(k, τ) =
∑
r,s

rsDrr
ss(k, τ), ����)��
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DzQ(k, τ) = 2
∑

r

rDrr
+−(k, τ), �������

Dz−Q(k, τ) = 2
∑

r

rDrr
−+(k, τ), �������

D++(k, τ) = 2
[
D0+

+0(k, τ) + D0+
0−(k, τ)

+D−0
+0(k, τ) + D−0

0−(k, τ)
]
, �����	�

D+−(k, τ) = 2
[
D0+

0+(k, τ) + D0+
−0(k, τ)

+D−0
0+(k, τ) + D−0

−0(k, τ)
]
, �����
�

D−−(k, τ) = 2
[
D+0

0+(k, τ) + D+0
−0(k, τ)

+D0−
0+(k, τ) + D0−

−0(k, τ)
]
, �������

DQQ(k, τ) = 4D−+
+−(k, τ), �������

DQ−Q(k, τ) = 4D−+
−+(k, τ), �����
�

D−Q−Q(k, τ) = 4D+−
−+(k, τ). �������

���� ���������� ��
���� ���
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����� τ ����
�� β� ���
������
 �� �  ����!������������
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 ��� ��

−Grs
(0)γδ(k, iωn) :

s

δ

r

γ
, −Grs

(0)1,1(k, iωn) :
sr

, −Grs
(0)−1,−1(k, iωn) :

sr
.

���� ����� � 	
���� ��

���������� ������	 �
��


�����	�

−Grs
γδ(k, iωn) :

s

δ

r

γ
, −Grs

1,1(k, iωn) :
sr

, −Grs
1,−1(k, iωn) :

sr
,

−Grs
−1,1(k, iωn) :

r s
, −Grs

−1,−1(k, iωn) :
r s

.
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�
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��	

� &����������
������'

H0 =
∑
k

(ek − μ0)b
†
r(k)br(k). (����)

*
 � �
��
	 &����������
����� (��+) 
�	$ ������ ,%�
��
 � 	
���� 	����� �
��	

� 
	
���

�������
��� 
�����	� -�./0 �
 ��
	 	����
� �
��
��

$ 	
���� �
��	

� ��

����������


Grs
(0)γδ =

δrsδγδ

γiωn − �−1(ek − μ0)
. (����)

������	�� 
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�� �������� �
�%���� �	 ������ �
	
��� � �������0 #� � �%�%� ���
1
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"����
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1
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�
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 ��	
�� 5
����	#�����0
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 	�
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� � ��������� �	��	
�	� 
 ����������

� � ��������� �	��	
�	� � ����������

� � ��������� �	��	
�	� � ����������

� 
 ��������� �	��	
�	� � ����������

������ 	 ������������� ��	����	� 	 ���� �����	
 ����
�
������� �� 	��
 	 ���!����
� ���"

��#���� ��$ �%���
 ����������
����

r s

r′ s′

,
r s

r′ s′

,
r s

r′ s′

,
s

r′ s′

r
.

(−�
−1)V r′s′

rs , (−�
−1)

√
NcV

r′s′

rs ζs′ , (−�
−1)Ncζ

†
r′V r′s′

rs ζs′ , (−�
−1)N

3/2
c ζ†r′ζ†rV r′s′

rs ζs′ .

���� ���	� & ��������#��� �%
#�%��	��� '�$��	� !�	��	��	�� 	��
$�� 	 �%
#�%��	����	�
��������( ���!��������� ������	� � 
%��%���� )*�
����+

& ����	�	!� ����������� �%� 
 ��$����� ��$ ��������� �,� 	 ������	� ��� �������� ���"

����
 )���� ���	+�

s
r ,

r s
.

(−�
−1)

√
Ncζ

†
r [−μδrs − �ωL(Fz)rs], (−�

−1)[(μ0 − μ)δrs − �ωL(Fz)rs].

���� ���	� -�������#��� �%
#�%��	���� ��� �	��	
�	�. !�	��	���

& /����"� �����$� 	 0$���12�
�	�� ��$��
���(
 )��3� ���	+ �	������	���� ���4

Grs
γδ(k, iωn) = Grs

(0)γδ(k, iωn) + Grr′

(0)γρ(k, iωn)Σr′s′

ρσ (k, iωn)Gs′s
σδ (k, iωn), )��
�+

	��
 �������� � 	 Σrs
γδ �	������������ & �	����������� �
$	� !�	��	��� %����������� 	��
$��

����!�#���
����� 	�	� ��� ����� ����� �	 �
������ ���� � ��$ ��$�����#��� ���	
	��
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	������ ��
��
�����	������	 ������� � 	����
 ��� ��

s

δ

r

γ
=

s

δ

r

γ
+

s

δ

r′

ρ

s′

σ

r

γ

−Grs
γδ = −Grs

(0)γδ + (−Grr′

(0)γρ) (−Σr′s′

ρσ ) (−Gs′s
σδ )

sr
=

sr
+

sr’ s’r
+

sr’ s’r

−Grs
11 = −Grs

(0)11 + (−Grr′

(0)11)(−Σr′s′

11 )(−Gs′s
11 ) + (−Grr′

(0)11)(−Σr′s′

1,−1)(−Gs′s
−1,1)

r s
=

sr’ s’r
+

sr’ s’r

−Grs
−1,1 = (−Grr′

(0)−1,−1)(−Σr′s′

−1,1) (−Gs′s
11 ) + (−Grr′

(0)−1,−1)(−Σr′s′

−1,−1)(−Gs′s
−1,1)

���� ����� 	 
��
��������� ���������� ��������� �������������

���
����� ��� ����� �� � �
�����!��� "#�������� ������ ��� ��������#� � Πsr
r′s′ $�� %
������&

!������ '��� (������
� )����������* ������� %�
%����* ���� ��� ����� ����*  � ��������

����#� ��� �)�!�)� ����� �
������ 	 �
�����!��� "#���������� � +��,-. ���������/� ����
�&

 ����� ���

Dsr
r′s′(k, iωn) = �Πsr

r′s′(k, iωn) + �Πsr
ab(k, iωn)V

ba
cd Ddc

r′s′(k, iωn). +��,-.

'�� �� �������� ��������� �� ��0� ������� ���������� ��/* � 
� �� �������
�1�
�� �
�����!���

"#���������� "� �� %
���
���� �� � %�
%�� �������� ��#��� %
���
���� �����
�����

r

s

r′

s′
=

r

s

r′

s′
+

r

s

a

b
c

d

r′

s′

−Dsr
r′s′ = −�Πsr

r′s′ + (−�Πsr
ab)(−�

−1V ba
cd )(−Ddc

r′s′)

��0� ����� 	� �������
�1�
�� �
�����!��� "#���������� ��� ����
�� �������� ������� ����&
���������

2����������� "������� 〈ar(k)〉 = 0 ���(�� �&��� '���� �� ������� � ������������*

(���1!�� ������� ����(�!������* ������ %�
%�� ��3 � %
������!��* ����� (���1!�� ������� %�
%��*

������ ����(�!������ ��� 2�������������/ "������� +�
���'������� �
�(�������. ��
�����
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������	 
������	 
�� �〈ar(0)〉 �= 0�� � ��
��������� ����� ��
 ������ �� � ����������� �����

��
 �������������� ���� � ��
���������� 
��� � ����������� 	�� ������ ��������  ��!

Σ r s
γ δ = Σ̃rs

γδ + M rs
γδ , ���"#��

Π s r
r′s′ = Π

(r)sr
r′s′ + Π

(s)sr
r′s′ , ���"#��

���� Σ̃ 
����� � ������ �� M �� �
������ ��
���������	��� 
$� Π(r) � ��������� ���������������

�� Π(s) � ����������� ������������� ������������� % ��
��������� �� � ����������� ���"#�� ��

���"#�� ��&������	 ��������  ��������� � �����	���
��  ��
����
����� 
�����	  ����� �����'

����

���� � ����	� 
��
����� �
��	�������	

% 	�
��� ���������� �� � 	���������
 �������� ��&(�� ���������	 
�� � 〈br(k)〉 =
〈
b†r(k)

〉
=

0 �� � ���
�� �������	��)�)����� 
����� n = nc + nT �nT � ��
 	��������� �������	�	

�)�)����� ��&������	� %�	��
��*� � ��������������
$��� ������	�
�� � ���"+� ��&��������


����	� �
��&��� � ,����' (��*��&�	 
��������������� ������� 
���� ��*�������- ��&

 ��������!

〈bγ
r (0, 0)〉 = Σs

0δ(0, 0)Gsr
δγ(0, 0), ���"+�

���� Σs
0δ ��&�� ������
�	 ����������� �
��&��	 ��& ��
��- *��& 	�
��- *����� *�� �γ = 1

*��& γ = −1�� .��������*� � ,����' (��*��&�	 ���

���������
��������� � 〈br(k)〉 =

〈
b†s(0)

〉
=

rs
s′ +

s r

r′ s′

r

+ ...

〈
b†r(0)

〉
=

−1

�

√
Ncζ

†
s′(−μδs′s − �ωL(Fz)s′s)(−Gsr

(0)1,1) +
−1

�
N3/2

c ζ†rζ†r′V
r′s′

rs ζs′(−Gsr
(0)1,1) + ...

��/� ����� % 	�
��� ���������� �� � 	���������
 �������� 
���������� ������������ ���
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〈
b†r(k)

〉
= 0 �������	
���� ��	
	
� 
������
�� �
�� �

Σs
0δ(0, 0) = 0 ������

�
�	
	
��
��
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���� �	'#�� 
��	�%	 �
'#�� %�
������ ����	����(�� � ���� ������� �	��%������� ���!

Σ̃rs
αγ = �

−1[(μ0 − μ)δrs − �ωL(Fz)rs + ncζ
†
r′V

r′s′

rs ζs′ + Hs′r′V r′s′

rs ]δαγ , )����*

Σ̃s
01 = �

−1[−(μδrs + �ωL(Fz)rs)ζ
†
r + ncζ

†
r′ζ

†
rV

r′s′

rs ζ†
s′ + ζ+

r Hs′r′V r′s′

rs ]n
1
2
c . )����*

���� �	%	�	��(� � Hsr �����		��
'	�	����+

Hsr = lim
η=0

∫
d3q

(2π)3

1

β�

∑
iνn

[−G̃sr
11(q, iνn]eiνnη. )���*

,�

!	
 �	�������� ���! � �
���
��
� �������
 )s = r* � �����		��
'	�	��� 
	� ���� �

�

� �	��
�#� )
	� ��
�	
����* ����	$���� �-�-���	� .	����	 n′
r � �	��
�#� ������ �-�-������

/���� n′
r = Hrr� ���� r � �"

�"	����� z ���"�
	
��
	� � ������������ �	���
� 0
�#��#
�

�
 � �	
���	� �	��	� ����	$��	�-�-����� �� �	��	� ���
	�	�	������� �	���� 	�!	
�	�	��1�+

n = nc,+ + nc,− + n′
+ + n′

0 + n′
−, )����*

m = nc,+ − nc,− + n′
+ − n′

−, )����*

r s

∑̃rs

αγ

=
r s
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�� �
 ����� ��� 
������ �����������

������" ������ ��� �� ���� ��� #$�%��$�� �&%'� ����
��� ($����� nc,− = 0 �
� �� ���%�����
�"

�$�� Σ+−
αγ = Σ−+

αγ = 0" �
�
 � )* ��
����� ���
���+��$�&%& G++
αγ " G−−

αγ #���� ����������

��� ��� ��+��$�&%��� ���
��



�� �� ������� �� 	

�����
���
��� ��
	��� �� ������	
����� �	�����

� �������	
 ��
	����� �
	�� � G++
αγ ���������������� ������������ ��
���� ��� ��

� �� �!" #����$�
�%&'���� ����
 ��%���(��� ����� �������������� )
��	 � * ����%��+ � φ−

���	��������� 	���������� � G−−
11 �������������� (��� 
�, ���
� � '- ��%����� � �.�����%/

�
���� .
�� �
��
������0

G−−
11 (k, iωn) = [iωn − �

−1ek − Σ−−
11 ]−1, �� -1"

�$�
 ��
$��%��
���, $��� Σ−−
1−1 = 0 � �.%�
(��� ����%/
���� ���	����� � � �� -1" �����
�����

�%����
/ ���������������/
 �.�/ ������%��� ������������ �����
��%, ���
� �
�2��� � '*�

'- ��%��$������ � �������� ����
 �����
��� ����	$��
, $� Σ−−
11 (0, 0) = 0 �����
����

����
	��� ωL���, ���
��/
 � Bc = Bc(T ) .��%������� �� �.%�
(����� ���� ���%���� 3���

�����������" ���%���
$��
 

� ����� ��
����
 T = 0 K�� ��� ������� ��%�����
���
��� ��
��� �� ��� 3�������� 4���
$��/

��� � �
���%���� �� � ������� ��%�����
���
�� �.%.�� � T → 0 $����������� )�5, �1+ 6�
.
��

φs � �$��� �7�������, ���
��� � Bc(T ) = Bc(0) − wT 1/φs �����
�� ���(�������
 	�4���
���

)�8+ 9�%����� �� ������� �% x = T/[B −Bc(0)]φs ��
��%
�, ���
� � �������� ����
�� �% xc

������� ���%� ��
 :���� � �%����
������ ��%��/ ���	�����

G−−
11 (0, 0) =

C(T )

|x − xc|γ T > 0, �� -5"

=
Q

|B − Bc(0)|γ0
T = 0.

;�
��$��
, $��� $� � 3�������� ���
�%�� ��������, ����� φs �������%�� � ����%����� �
	��

����%����� φ 3�������� �7��������
 ��% ����� �

 ����, $� C(T ) ∼ T−γ0/φ" <�
������.%�
(�

������ � �$��� �7�������� φs = 2/3 �	
	�� �
��	 �� -=" �����
��" 

� ����� ���	�
������� ������������ $������ �% �%���� ���, $��� �
����	/�� �
�3����

$/������
���� ��

 
������ �$$�%, $��� � �������� ������� ������ 
�����, ���� �% ��������

��� ������ ���� !� �!"#�$%��� &!'� Σ−−
1−1(�!� &��)�* �!"" "!���! "!*%"#�� !* +" %� �,�',-�!.-�! ��".-��(

$%�#-� �%'�%"&%�� )�%*'%&�%�� %&!" �!� % ��".-��$%�#-� /!'�!0 �,� �!1��� /+�%"#� �+�)!��#��& /%�� &2*
% �,� ��1��� /+�%"#�%� -3��/!�4"!�! r′ = s′ = −� �� %�� 5!"!���� $+* % Σ−−

1−1 ��1!5!�,-,�!� �!"" "!���! V −r
−s

��".-��$%�#-� �%*�%�� �� .-%� V −−
−− !-!�,� %) �,'�-��" �4"�����6 5#'�",�+�� )! % − -3��/!�4"!� �'#� #�%�

���.-!� �+�)!��#��&�
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���� ���	
 ���	
�
�������
 ��� �	

�������� ���� �	�����

� � ��
�� ����
������� ����
��

�������

�������
����� ���!�
 �������
	����"�� � γ ������� � γ0 �
������� # $% &����!�


G−−
11 (k, iωn) = [iωn − �

−1(ek − 2csm + 2�ωL]−1. '��%()

�!!�� ��* ��� ����	��� ���
 +���, '��-%). '��--). '��-��). '��-�!)/ γ = 2 �� γ0 = 1 �,�,��.

�	��!!� C(T ) ∼ T−1� 0�1
���"�� �� η. η0. ν �� � ν0 �
������ ���	
�
����� � ���������

��,	
2

� �
������ �	
��	
 : G−−
11 (k, 0) ∼ k2−η, '��-3�)

� ���
��� �
������ �	
�!�
 : G−−
11 (k, 0) ∼ k2−η0 ; '��-3!)

T > 0�
� : ξ ∼ 1

|x − xc|ν , '��-3�)

T = 0�
� : ξ ∼ 1

|B − Bc(0)|ν0
, '��-3,)

��	� ξ � �	

������� �	����� "������ �������
����� ���4
�!�
 η = η0 = 0. ν = 1 �� ν0 = 1/2��

# 5� &�"����!�
 
���������
 ��
�*��"��. �	�* � G−−
11 ,�����
���� 
������"� ��
�!	����� ��

��
������ ��* ������ �� � ��� T > 0�
� νz ������� T = 0 �����
 ν0z ���	
�
���� ��
�� �� �

&��������
�	� ������,��� 6�� z � ,�
������ ����� ���	
�
�. �������
����� ���4
�!�
 z = 2�

7�
��!! &�� 
��� � G−−
11 (k, iωn) ��&�"������. ����* 
�����"� �� iωn = 0. k = 0 ����
����!�


����
 � ������ ��*���� ���� �������
����� ���!�
 � ��� Σ−−
11 (0, 0) = 2(gμBB − csm)�

#,	�� T ����
�������
 �� μ ������ �	��
���� ������� � �
������ �	
��	


Bc(T, μ) = csm(Bc, T, μ). '��-%)

7�"��4� 8�*�	
��	
!� ���	,
�
,�� � ���
������������ � ���
���� ��
 ���
�
� � �
������

���������� ν = 1/2�



�� �� ������� �� 	

�����
���
��� ��
	��� �� ������	
����� �	�����

�������� 	
� �
���
����

m(B, T, μ) = m(Bc, T, μ)+

(
∂m

∂B

)
B=Bc

(B−Bc)+
1

2

(
∂2m

∂B2

)
B=Bc

(B−Bc)
2+O ((B − Bc)

3
)
.

������

� ��→�� ������	�������� ����	���� �	��������� T > 0 ���	
� � ���������		�
� 
� � ����� 

!�"	�����	��� χ =
(

∂m
∂b

)
T,μ

�� ����	������ ���� �	� �#� T = 0 ���	
� � ���������		�
�

����	������ ���� �	 
� � �����!�"	�����	�� ������ � �� �������� � �����!�"	�����	�� � ��� 

	���� "��	��� χc = gμB/cs T > 0 �� 
� χc = gμB/(cn + cs) T = 0 ��� $��%������&� �

���������		�
� �����'	
�
	 � ��" � �
&�	���( ������ ���� �	�

Σ−−
11 (0, 0) = 2(gμBB − csm) = −csχ

′
c(B − Bc)

2 + O ((B − Bc)
3
)

T > 0 ���	
�,

�������

Σ−−
11 (0, 0) = 2(gμBB − csm) = −2

cs

cn + cs

gμB(B − Bc) + O ((B − Bc)
2
)

T = 0 ���	
�.

�������

� ���	����(� ����&��%�	)�� � ��" �*"��������

+����	�,� �����	 �� ����������	 � �����	
����� ��������	 � [B −Bc(0)]/T = !���	 > 0

���	
	�� %�	���� ���- .��� �� ��������� � �����	
���� &
��� � �� �������� %���/&� ��	���

���� � �&��	�� ���	���� "��	�� 
� ��� �/�		 ��������� ���	
� %���/&� � !�����&�� ��������

���� ����� .���� G−−
11 (0, 0) ∼ T−ν0z ∼ T−1� � ������!�) � &���	( ����������	��%�� T  ���

�����
�� %�	&����&�� ����� ���	,����� T− 1
2  ���� � �� ����� ���� ���������	 	��	�����)

�
��
	 � [B − Bc(0)]/T = !���	 = 0 ������� %�	����'� 
� G−−
11 (0, 0) ∼ T− 3

2 � .� �����&��

������ %��� � �� 
� �� ����� %�	���	 ����/) �
��� 
���	('� &#�����	�� �
��� %(�
��
���	���



���� �������	
���� �
���

����� ����� ��

���� �������	
���� �
���

����� �����

�������	
���� ����
�
 cs < 0 �� � ζr =

⎛
⎜⎜⎜⎝

1

0

0

⎞
⎟⎟⎟⎠ ���
�� �����	��� � ������ ��
������
���

��������� μ = cnn+ csm−�ωL ������ ����
���� �������� ���� n = nc +n′
+ +n′

0 +n′
− � ��� ��

������������� ��

m = nc + n′
+ − n′

− ����!�

� ��
"���� ��� �� ��	
���������	�� # ������ �� ���
��	��� � ������ �	$�
���
%� ������&��

��	'

Σ̃++
αγ = �

−1μ0δαγ , ����(��

Σ̃ 0 0
αγ = �

−1(μ0 − csm + �ωL)δαγ , ����(
�

Σ̃−−
αγ = �

−1(μ0 − 2csm + 2�ωL)δαγ . ����(��

�������	
���� �)���)
����� �����
 ������� �&"�
 ��" *� ��	 �� ��������	$�
������ #�

�	$�� ����
�
 �� �
��
��+ +�����&��� �)	��� ,� �� ��" *� ��	 �� �	$�
������� -(./� � �����

����
�
 � ����������0�0��	�� �)	��� ,� �� �� ���
 ���,� � ���
�,		% �)���)
����� ��%���	��

 ������% ���������� cs ������� �� +�������� *� -(�/� 1$��+�
+��&� ��	$ � ��� ���� *	$�
������

� ��	��"������ ����	����� �� "� � ����"�� ���� ����� �� ��"����� ���� ��+�+���
� � 2���3

4�
����
 	���� ������ ������ ��"��� �+�� -(�/� 5������������	 �� ���  ���
��� ��	$ cn/cs →
∞� 6�+�

� �� �� �	��� ��	$ � ������ ����
���� +����������� �)	������ �
��
��+ +�����&�

�����
 )�����,		��
�
 ��� � cs �)���)
������ ����
"& 
�	$��	�
�� +�����������+�� �)	������

����������0�0��	 ��������

������ ������	
�
�
��� �����	�		 ��	����� ���	���� �����		

7�	$�
 μ, B, T �)	������ -(./8 # ����� �	$�
������� ���� ��	��"�
*
� �� n, m, n0 ��

$�9

��	����� ��������	 *	$�
������ �� �	$�
������� ���� ��	��"�
*
�� ��
� � ������� �������

:� ������
�
� "� ��
$�	��� ��	$ cs ���� 
�	���+� # ����� ���� ���� ��+�

�� �� �	�� ����"�



�� �� ������� �� 	

�����
���
��� ��
	��� �� ������	
����� �	�����

� ������ ��	
�����
�
� ��������������������

Σ̃++
11 = Σ++

11 = cnn − μ + csm + �ωL, �������

Σ̃ 0 0
11 = Σ 0 0

11 = cnn − μ, �������

Σ̃−−
11 = Σ−−

11 = cnn − μ − csm + �ωL. �������

���� �� ���
�!��"# !�
 �� 
�������
 ����� ��$���
�� � ��$�����% ��
��������&��'
��"��(

T̃ = γT ����)��

B̃ = γB ����)��

μ̃ = γμ ����)��

ñ = γ
3
2 n ����)*�

m̃ = γ
3
2 m ����)��

c̃n = γ− 1
2 ����)&�

c̃s = γ− 1
2 ����)
�

+�����,� �� � T0 !%'��������� ��
������'����� � ��$�����% '"*��(

T = 1.425 T0. ����-�

. �/'����/� &������ 0
 $
��������/� '�
# !�
 n = n
(id)
crit $���� � ��)���� 
��� �������

!���*	�� 
� ��

n
(id)
crit =

2Γ
(

3
2

)
ζ
(

3
2

)
(2π)2(λ0)3

����1�

�� �*�
��� ������ 2���34������� 

� ������/� �5�5��
� ���/� '

����� ������# '�
 λ0 � T0

!%'���������� $��� ���'��/� !/��
'!����� . $
�����
�� � ���%�������� �������������� ��
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����� ����� ��

89.6 89.7 89.8 89.9
0.9975

0.99875

1

1.00125

1.0025

μ

n

(a)

B = 0.0033
B = 0.00317
B = 0.003
B = 0.0026
B = 0.00245

0.0024 0.0028 0.0032 0.0036 0.004
0.9975

0.99875

1

1.00125

1.0025

B

n

(b)

μ = 89.75
μ = 89.73
μ = 89.7
μ = 89.67
μ = 89.6

89.6 89.7 89.8 89.9
0

0.1

0.2

0.3

0.4

μ

m

(c)

B = 0.0033
B = 0.00317
B = 0.003
B = 0.0026
B = 0.00245

0.0024 0.0028 0.0032 0.0036 0.004
0

0.1

0.2

0.3

0.4

B

m

(d)

μ = 89.75
μ = 89.73
μ = 89.7
μ = 89.67
μ = 89.6

���� ���	� 
� �	
 �� ��
 ���	 ���	��	 	 ���������������� �� 	 �������������� �������� 	
����	� ���������� � 	 �������� ��� ��!��" ��������# �$� 	 ��
 �� �%
 ��"	����� ����"������
�������� 	 �������� ����&� 	 ����	� ��������� ��!��" ��������� 
 ���������������� ��
�������������� n

(id)
crit# 	 ����	� ��������� kBT0 �� 	 �������� ��� kBT0/gμB ��"��������

'	� ���	%'	�

�����%�������� (������� ��'������ %������ ��	� �)���)�!	���� �	�	��������� ��*

εn =
cnn

(id)
crit

kBT0

, ����+	


εs =
|cs|n(id)

crit

kBT0
. ����+�



� ���	�����"����� �����%��	�� 	� ���� ����� ���!	���� )�������'� εn = 90 �� εs = 0.9

������� 
 �����	
 �� ������
 ������� 	 ���������������� �� 	 �������������� ���!	� 	 ��,

������ ��� ��!��" ��������� -��	�$'	� �	�" �������� ��� ��������� ��	� ��"����� �����%��

'	� 	 ������������������� �� 	 ����������������� 	 ����	� ��������� ��" 	%��� ���������



�� �� ������� �� 	

�����
���
��� ��
	��� �� ������	
����� �	�����

(μ(3), B(3), T (3))

μ

B

μ(1)μ(2)

T

T (1)

T (2)

(0, 0, 0)

���� ���	� 
 ����
�������� ����
� �
�� ��� �������	��	��	 	 (μ, B, T ) ������ 	 cn/|cs| ≈
151.5 ��������� 
� ����� ����������� 	 ���� ����� ���	�
�� ����������� ����������

�������� � 	 �������� ��� ������� ��� ������!� �
�� ��"���� ��� Bc �������� �����" ��

μc ����	� �
���#��"��"� $	 	 �������� ��� ������ 	 ������!���"% 	��
� "������� 	 ����	�

�
���#��"�	� 
"�	� �������% 	��"����� 	� �""	�
������"�� �����" ���� ���
"���� ��
"��"�	�

���� 	 �����#����&�&�����% ���� 	 ����������������� '� 	�� ��"����% (
�� ��� �"������& ��)

�����	"	�!"�� ����  ����� $	�
�"* �� �������������� �!�(	�!��% (	 	 �������+� 	 ����,�-

�� ����,�- �����	�� 
 �������� ��� �� 	 ����	� �
���#��" ��������� ��"#����" � ��"�&��� ���

������!� �
��% 	��"� ���������� 	� �"��� �" �� �"������& �������	"	�!"�� ����  ����% (	 	

����	� �
���#��" �	��
�� 	 ������!� ��������"�


� �""	�
������"���� ���
"� 	 	 ��"�	��
"(	�* 	 �������� �������	��	��	 	 (μ, B, T ) ��)

���������� '� "��(	�* 	 ���� ����� 	 cn/|cs| ≈ 151.5 ��������� 
 �������� ��	"	�!"��

�"������& 	 �����.���� �	��
�����	� �� 	 ���  
�	" �
�"	"�	 �	���	 	 �������� ������!�

�
��
�	�� 
 ���
� ��"+"�� ��"�� 	 �
��/'������� �
������#�*�% �.� 	 ���
�  
�	" �	��	")

�	��	 	 �
��/'������� �
������#�* ���������!� �
���	��� 
 (μ = 0, B = 0, T = 0) �� 	
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� �"�	"

���(	���
�
��  
�	""	" (	���
"� �	��
�����	� 	 �
��/'������� �
������#�* �"������& 	

�������� ��	"	�!"���	" ���+��� '��� �	��
����
� �. +" 	 ��� ��"+"�� �" �"�� �������*" ��



���� �������	
���� �
���

����� ����� ��

� ����� 	
��� � 
�������� ���
������
�� ����
�������� � ����
�
� ������������� �� ���
���
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χ =

⎡
⎢⎣
(

∂n
∂μ

)
T,B

(
∂n
∂B

)
T,μ(

∂m
∂μ

)
T,B

(
∂m
∂B

)
T,μ

⎤
⎥⎦ . ,���-.
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(
∂n

∂μ

)
T, B

=
P + Q + R + cs [(P + R)Q + 4PR]

[1 + cn (P + Q + R)] [1 + cs (P + R)] − cncs (P − R)2 , ,���0�.(
∂n

∂B

)
T, μ

= gμB
P − R

[1 + cn (P + Q + R)] [1 + cs (P + R)] − cncs (P − R)2 , ,���0 .(
∂m

∂μ

)
T,B

=
P − R

[1 + cn (P + Q + R)] [1 + cs (P + R)] − cncs (P − R)2 , ,���0�.(
∂m

∂B

)
T, μ

= gμB
P + R + cn [(P + R)Q + 4PR]

[1 + cn (P + Q + R)] [1 + cs (P + R)] − cncs (P − R)2 , ,���0�.

�%��

P =
βΓ
(

3
2

)
(2π)2λ3

F

(
1

2
, β[cnn − μ + (csm − gμBB)]

)
, ,�����.

Q =
βΓ
(

3
2

)
(2π)2λ3

F

(
1

2
, β[cnn − μ]

)
, ,���� .

R =
βΓ
(

3
2

)
(2π)2λ3

F

(
1

2
, β[cnn − μ − (csm − gμBB)]

)
. ,�����.
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0.0721
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μ

1/ζ1

(a)

B = 0.0033
B = 0.00317
B = 0.003
B = 0.0026
B = 0.00245
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−0.001

0

0.001
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0.003

0.004

0.005

0.006
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μ

ζ2

(b)

B = 0.0033
B = 0.00317
B = 0.003
B = 0.0026
B = 0.00245

���� ����� 	 
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�
����������
� ������ ���������� 
����������� �ζ1 �
 ζ2� � ������ �����
���
������� ���� � �����
�
 ��� ��!�� �������� cn/|cs| ≈ 151.5 ��������

	 
��������
� ������ 
����������
 �
 �� ������ ���"
��# ���� � 
����������� �
 ���"
�� ��
�����

$����� ��� �� ��%���� �����& '� � �����
�
 ��� ���� ��� # ����� �� n(μ) �(��� )�*

�������� ���)�� �����+�� B ������� � �������
 ������# Bc ��� 

(������� � �(������� ��
�

�� �� 
����
��# �!�� � )������� �����+� ��
�� ,�� ���

�� ��� �����
�
 ��� ��������� ��

n(μ) �(���� �����+� ����)��
��- 
����
��� �����+� ����)��
��-�� ���)������ .� ���

������� ���# !�� � ������ �����
��� ���� ���������� � ���)
��� 
����� �����# ��� 

�� �


��
�
����������
 ������ 
�������������� ���
��������� )(��!����� ��# ��������
�� � 
������*

�������� �����+���� ���� �������� /��(��� � 
��������
� ������ ���������� 
������������ ζ1 �


ζ2& 	 �(�� ��� ��������!��0
�� ��)������ � ζ1 ��
������� �
 � ζ2*� ���������� � ���� �����

� ��%���� �
 �
� �������� ��������0 �
������ 	� ����� ������
�� ���
���# !�� !�� �� �����

� ���)
��� ��
�������� 	����� � �����
�
 ��� ����� � �������
 �������# ����� � ζ2 
���������

������� ����� � ������ �����
��� �������
 ���������# μc*���� 	 �������
 �����
�
 ��� ������

��������� � ζ2 
��������� � ���(��(�0 ������� �
 �����!��# ���� �� �(��� �� �����+�# ��� �

���)
��� ��
��������
�� �������� 	 ζ1 
��������� ���)��(���� ��

�� �������� �
 ���)�����

�����+� ����)� 	� ��0�0�� ������
�� ��������# !�� � ����
�� 
��������
���� ���!���*

����
�!�� ��� ������)0 

�� � �����)�������� )��������� ���
������# !���� � ���0���

�����+���� 
��
�
����������
� �������� ���� �������� ������� 	 
����� ����
���� � 
����
�


�")��# � ,��1���*���
����
�" 
��+�
������ !������!����� ����
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��
��
	
	 ���"
	�
� ������ �
� �����	
		 n, T, B "��#

	���� �
��
		 nc, m, μ#�
 � ����� �
�
	���� ���� � �����	
		 ��	
���" "��	���� �
��
		�

�
���������� ����������� � $�%&
��#����	���
��	 '�� ���� � ����
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� � ��	 �
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*
��
� � 	�"�++���+�� � ����

��
������� ���		 �� "��	��	����� � ����
�
� 	�� ��	���	,

-��.����� 
� ��	 �
�
�	� ���� � /�0�1�2 �+��� �
�������	 ���+��
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�
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�
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����
�	"
 � �
����
� "��
��
���
 n �����	
		 ��	�#

��	�� �(��� 3� n �
��
�
��
� �����++ "��� ���
++ n = n
(id)
crit ��	������ ����� ����"����

�	�+�� !��	���� �
��(�� �
�
��	(�� 4��
��
�� 
�
	+
� � "������	
� "���� ����� !��	��+��

�
	���
	� 
� � ���+��
	 ��
��
� �
	��	�+�� "��� ���	�+�� ����!�	���	 �
�
�	
�
�� 5���#

������ 
� ��	 �
�
�	� ���� � �
����
� �
� �
�� ������� 	�++� ��	 ����� �
�� 
��������


��
��'��+�� �� n �� �	����� ����

��
�������
	 �
�
�	�� � $�%&
��#����	���
�� 
�� ���		

����
�
� 	�� ��	��
 �
��
		 �
����� � ��	 ����� ����� ������ !�	
�
�����	 ���
	"
 � ��	

����� ����

��
��������	 n1#	 �� n2#	� �� �	����� ����

��
�������
	 � ��"
	�
�� �����+��

����	��� �
�6

n = α n1 + (1 − α)n2, 1/�/�2

��� �
���	������ �� α !�����	
�	� � ��	 ����� ����

��
�������
� n1 �� n2 ���
	"
 �� α

!�����	
� �(��
�
� n B �� T �����	
		 ��	��
�	��� 7
����
 m1 �� m2 � ����
�
�
		���

��	���	 �� 
��
� �������+��� 4���� �� �	����� ����
�
�
		���6

m = α m1 + (1 − α)m2. 1/�/�2

� /�89� 1�2 �+��� ��	��	� � $�%&
��#��
��
��	�� �� εn ������ ��	����
 n = n
(id)
c 
�
#
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0.0021 0.0024 0.0027 0.003 0.0033
0.1

0.15

0.2

0.25

0.3

0.35

B

m


 : m, εn = 90.0
� : m1, εn = 90.0
� : m2, εn = 90.0
+ : m, εn = 180.0

: m1, εn = 180.0
: m2, εn = 180.0
: m, εn = ∞
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m
m(c)

����� ��	
� �
� 
� ���
��� �������������� 
 �������� ��	 ������������ 
� εn ������ �	���

��	� εs = 0.9 ������� 
� ���
��� 	��������� 	 ����� n = n
(id)
crit���� ���
������!�� εn/εs = ∞

������ 
 �������������� �"	��#���� �����$� �������� ��	�%����� &���#
� 
 ������������
����� n

(id)
crit' 
 �������� ��	�� kBT0/gμB ����������� 
%�!� ���� 
 ��� ��	
 �!�
�#
 


�������������� �������� 
 �������� ��	�(� 
 �(��	������ ������ �	����	� εn/εs = ∞ ����
���� T = Tc ������ �����$� 
 �������������� �"	��#���� �������� ��	�%����� &���#
�

���� 
 ���	�������� ��������� ����
&�
�#!� 
� ���
��� �������������� �������� ��	�(�

�
�) ��������� *���
�)' ���� 
�+� εn/εs �����' 
���� 
 ������ ���	$�� ��������$� cn/cs����'


%%$� ��� ���$� �����$� ���"��"�( ����������������� �� 
� ���
��� ���������������� 
 ����,�

�������� 
%#
 ���� 
� εn/εs → ∞ �	����	� 
 	��%���	 ������� �
	
% �� 
� m − B �"	�

����� �������� ��	�%����� �	$��(#� #����$� ���� -� ��� �������� ���$���
�
�!���� #�����

�	"��+���� 	��������� 	 ��� ������� Tc = 1.425 T0 �	$�$�!� �(��	������ �������� -� $�%��

����
 ���./� ����������� ���
%��� �!��	$�!� �
���	 ������
�������� 
 �!��	$�!� �
���	

�������
�����
� ��� �"������$ ��&�� �
&�
�!�� 
 ���$���
�
�!���	)�� 
 ����� ��� ��	�� 
�

��(�( ���������� �������' %� ���"��"�( T/Tc �	����� ������� ��	�����!� 
 ����������������


 �������� ��	 ������������� 
� ������	 ��� ��%���	� 
 0
12���������	!��$)� ������"���


� ���
&������������ �"��������� ��%���!� ��� 	"��+���� 	��������� 	 ��� ������ εn/εs → ∞
�������

3����� ���' ���� &�����
� ����
� ���� 
� ���
&���������� 
 	"��+���� 	��������� 	 ���

������� ���� �����%���� �	�������$� 
� ��(�(����� ����!�' ���� ��� ������%( 
 	�������

��� 	 ����� 	"��+���$' �
��� 
� ε → ∞ �������� $� ���������� 
 �
#�����	�$�� ���.�� ��
� 


cnn− μ �$��#�������(� �������' 
�
� 
� ���
&������������ $� �		� 
 ���"�����	� ��%#!� ����

-� ��� ��
�
%����� #����� 
 ���$
$ &�����$�� �	�������' 
������ cn 	"��+� �� �� 
 	"��+����

$�����+� ������)� �������$ �����%�� �$�����
�
 �!�
�#
 ���' ���� cn���� ����������� ����
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2.1

B

(a)

T

BEC
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0 0.0006 0.0012 0.0018 0.0024 0.003
1.416

1.418

1.42

1.422

1.424

1.426

B

(b)

T

BEC

MT

0 0.002 0.004 0.006 0.008
1.338

1.341

1.344

1.347

1.35

B

(c)

T

BECMT

0 0.002 0.004 0.006 0.008 0.01 0.012
1.28

1.285

1.29

1.295

1.3

1.305

1.31

B

(d)

T

BEC

MT

����� ���	� 
 ���
���� ���������� �����
�	��	��	�� �	� εs > ε
(1)
s � ��� ε

(1)
s > εs > ε

(2)
s �

��� ε
(2)
s > εs > ε

(3)
s �� �
� ε

(3)
s > εs� 
 �������� ����� � !��"�  "�	� ����� 	� ���#���
$

%"��&'������� �"�
������(� ����� � �������� ��	�	�)����� 
 ��� �� �
� ����� 	 ��������
 "�	� 	 !��"�  "�	�"� �	�	
  ����� 
  ����"����  "�	� �)�	��	 	 �"�*�"�"� %"��+'�������
�"�
������(�� �,� 	 ���	 !"�� 	 �"�*�"�"� �������� ��	�	�)����� 
 �#��������� T0� 	
�������� ��� kBT0/gμB ��*�������� �����
#�

������� 
 cn/cs → ∞ ������� 	 �"�!������������� ���$���� 	�"�* 	�� 	 �� �����#�����

����)�	��)� �� 	 ���
����  ������
���� ������� 	 �!�� ��	�	
���� �"�"� 
��	�����	 �	��+

�"��	 ���� 
 �"�!������������� ���$���� ��� �����!#� ������ 	 ���
���� ����������$�$����

����,����� -�*���"� 	 ���
����� .�* ��!�������/� ��� �"�* 	� 	�"�"� ��* ���� !"���	��	�

 	��	� ����,� ��
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������ ������	
���	
 ��

�
���	� �� ���
���� ���	����������� ���

��
���� �������� � 	
������
!���� �������

������ � 	
���
�����	��
� ������	� �� 	��������� ���� ��	����� ����������� �� ��������

������ ������ �� ������ ��� 	�
�  ���!����� ����
��� ���������� 
� 
��� � � ���� ������

����� ���
�������� "#$%& '���������(� ���� ��� ����� �� �	)��
�
�� *� �����+!(� �� ����,

 ������������� ����	 -.&./�0,��� +�1����� εs ������2 
	�
��
�����
� �
�� 	
��	� �������!(�

��� � �������� �����������(��� 
� � 3���45������� ���+����
�2 !������ ���	��� "#6%&

7� ���) ��	���������� ���� εs �������� ���� ��� �������� 
	�
� -εs > ε
(1)
s ≈ 1.220

B = 0 ������� ��� ��		���������, �	��������� �����������(��� ���� �
��� T = TM �),

�
	�
������� � 3���45������� ���+����
�2 �)�
	�
����� -TBEC0 ������& 5�� ����� �����+��,

�	�� ������2 � .&66&-�0 ��	�� εs = 1.4 ����
�& ���+����) �����������(��� ��������� 
� �

�������� ������(��� 
��� B = 0 ����
� �
�����&

*� εs < ε
(1)
s � ����	 � �������� ������(��� ���)	��+��
 ����� B = 0,�� +� � 3���45�������

���+����
�2 ��������� ��	�+& 7� -εs = ε
(1)
s � B = 0� T = TM 0  ��� � �������� ������(���

�	��	����(�  ���!��
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	���������)� ������ ���������!� �������2� �� ���)	��+� 
� ���������

�����������(��� ��	���������& 7 �����������(��� ���)	��+��
�� ���������� ��� �������� ��,
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� �� �����	�+� ��� ��� �	�+�
������ ���� �
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���� ��������� ������8�����& 7 �������� ������(��� ��� �	����(� �
� ������ ����������

������� � -εs� B = Bc� T = Tc0  ��� �+ ���� ���� Bc � �	����(� �������� �
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���� �� �+��� εs,	�& *� B > Bc� ����	 �������� ������(��� ��� ����

�
���& � 7 3���45������� ���+����
�2 ��������� ���� ���+�++��� ���� εs > ε
(2)
2 ≈ 0.78&

5�� ����� �����+���	�� ������2 εs = 0.9 ����
� � .&66&-�0 ��	��&

*� εs ������
 ������ ���� ε
(2)
s � ����	 � 3���45������� ���+����
�2 �� ���)	��+��
 �����

B = 0,�& 7������ gμBB >> kBT0,	� � 	��+���	 8�� �������+��� ���� ��� ���,���
������2

�����	 ���� �������� �� 3���45������� ���+����
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32/3T0& 5� ��� !������� ���� ���� ������ ��� �	����(� �������� �
	���� B
(1)
c � ����� ����,
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(3)
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� �#� ��% B

(1)
c �
�� 

�%#�� B

(2)
c
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���� ��	$ 
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�� ���� ���
���� ��
�
�0���� /� 
� ���� ��� 
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1
 εs ≤ ε
(3)
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G(1)
γδ : =

⎡
⎢⎢⎢⎢⎢⎢⎣

G++
1,1 G++

1,−1 G+−
1,1 G+−

1,−1

G++
−1,1 G++

−1,−1 G+−
−1,1 G+−

−1,−1

G−+
1,1 G−+

1,−1 G−−
1,1 G−−

1,−1

G−+
−1,1 G−+

−1,−1 G−−
−1,1 G−−

−1,−1

⎤
⎥⎥⎥⎥⎥⎥⎦

γδ
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G(2)
γδ : =

⎡
⎣ G00

1,1 G00
1,−1

G00
−1,1 G00

−1,−1
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γδ
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G(1)
γδ :=

⎡
⎣ G++

1,1 G++
1,−1

G++
−1,1 G++

−1,−1

⎤
⎦

γδ
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G(2)
γδ :=

⎡
⎣ G00

1,1 G00
1,−1

G00
−1,1 G00

−1,−1

⎤
⎦

γδ
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G(3)
γδ :=

⎡
⎣ G−−

1,1 G−−
1,−1

G−−
−1,1 G−−

−1,−1

⎤
⎦

γδ
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G(n) = G(0)
(n) + G(0)
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G(n) =
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1 − G(0)

(n)Σ(n)
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Σrs
αγ = Σ(1)rs

αγ + Σ(2)rs
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G(1)rs
αγ = Grs

(0)αγ + Grr′

(0)ασΣ(1)r′s′
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ργ �����


��
���
��
 � 
����� �������������� � ����
��	� �������  �!�
" ���#

Grs
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G̃rs
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D
(1)
ab =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

D++
++ D++

00 D++
−− D++

+− D++
−+

D00
++ D00

00 D00
−− D00

+− D00
−+

D−−
++ D−−

00 D−−
−− D−−

+− D−−
−+

D−+
++ D−+

00 D−+
−− D−+

+− D−+
−+

D+−
++ D+−

00 D+−
−− D+−

+− D+−
−+

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

ab
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Π
(1)
ab =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

Π++
++ Π++

00 Π++
−− Π++

+− Π++
−+

Π00
++ Π00

00 Π00
−− Π00

+− Π00
−+

Π−−
++ Π−−

00 Π−−
−− Π−−

+− Π−−
−+

Π−+
++ Π−+

00 Π−+
−− Π−+

+− Π−+
−+

Π+−
++ Π+−

00 Π+−
−− Π+−

+− Π+−
−+

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
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C
(1)
ab =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

cn + cs cn cn − cs 0 0

cn cn cn 0 0

cn − cs cn cn + cs 0 0

0 0 0 0 0

0 0 0 0 0

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

ab
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ab =

⎡
⎢⎢⎢⎢⎢⎢⎣

D0+
+0 D0+

0− D0+
0+ D0+

−0

D−0
+0 D−0

0− D−0
0+ D−0

−0

D+0
+0 D+0

0− D+0
0+ D+0

−0

D0−
+0 D0−

0− D0−
0+ D0−

−0

⎤
⎥⎥⎥⎥⎥⎥⎦

ab
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Π
(2)
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⎡
⎢⎢⎢⎢⎢⎢⎣

Π0+
+0 Π0+

0− Π0+
0+ Π0+

−0

Π−0
+0 Π−0

0− Π−0
0+ Π−0

−0

Π+0
+0 Π+0

0− Π+0
0+ Π+0

−0

Π0−
+0 Π0−

0− Π0−
0+ Π0−

−0

⎤
⎥⎥⎥⎥⎥⎥⎦

ab

, �����	�

C
(2)
ab =

⎡
⎢⎢⎢⎢⎢⎢⎣

cs cs 0 0

cs cs 0 0

0 0 cs cs

0 0 cs cs

⎤
⎥⎥⎥⎥⎥⎥⎦

ab

�����
�

����������	�	 �	�
�

�	� 
�����
� ����� ���
���������� ����	������ 
������� � �
�� !"��� 1× 9# 2× 4 ��

2 × 1 ��
���
��������� 	�����# ��� 
� 
��$$� �����%��
� �	�	�&	�'�� $	�

D
(1)
ab =

⎡
⎢⎢⎢⎣

D++
++ D++

00 D++
−−

D00
++ D00

00 D00
−−

D−−
++ D−−

00 D−−
−−

⎤
⎥⎥⎥⎦

ab

, ����(
�



�� �� ������� � 	
���� 
� ��

������� ��		�
���� ���
������

Π
(1)
ab =

⎡
⎢⎢⎢⎣

Π++
++ Π++

00 Π++
−−

Π00
++ Π00

00 Π00
−−

Π−−
++ Π−−

00 Π−−
−−

⎤
⎥⎥⎥⎦

ab

, ������	

C
(1)
ab =

⎡
⎢⎢⎢⎣

cn + cs cn cn − cs

cn cn cn

cn − cs cn cn + cs

⎤
⎥⎥⎥⎦

ab

, �����
	

D
(2)
ab =

⎡
⎣ D0+

+0 D0+
0−

D−0
+0 D−0

0−

⎤
⎦

ab

, ������	

Π
(2)
ab =

⎡
⎣ Π0+

+0 Π0+
0−

Π−0
+0 Π−0

0−

⎤
⎦

ab

, ������	

C
(2)
ab =

⎡
⎣ cs cs

cs cs

⎤
⎦

ab

, �����
	

D
(3)
ab =

⎡
⎣ D+0

0+ D+0
−0

D0−
0+ D0−

−0

⎤
⎦

ab

, ������	

Π
(3)
ab =

⎡
⎣ Π+0

0+ Π+0
−0

Π0−
0+ Π0−

−0

⎤
⎦

ab

, ������	

C
(3)
ab =

⎡
⎣ cs cs

cs cs

⎤
⎦

ab

, ������	

D
(4)
ab = D−+

+−, ������	

Π
(4)
ab = Π−+

+−, ������	

C
(4)
ab = 0, ������	



���� � �����	 
� �
��������� �����
���� ��
�
��
������ ��

D
(5)
ab = D+−

−+, ������	

Π
(5)
ab = Π+−

−+, �����
	

C
(5)
ab = 0 ������	

�
�� ���
 � �����	 ����
���

D(n) = �Π(n) + Π(n)C(n)D(n), ������	

����
������� ���� �
�� n ���
�� ���������� ���������� � ��
�  �!�
����� �����"�� �������#

��
���!�� �
 ������
��$���� �������%�&� �'��!�
����� ��(���)�� ���* �
�
 �
 ��
��� � +
�#

������ ����!�
� ��,�,���#* �(�
�,�,���#* �� �	 �������%�&� �'��!�
��� ��-����
��� �
�� ���

����
��, �&-�
����� �����(���&��* �� ����
�)'� �
 ����� ���%��
������ �����"�� ��)��#

!�������� �� �
����� )�  �&� �����!�  ���&� ����
���

�� �
 ������
��$���� �������%�&� �'��#

!�
�����
 �����
& �����"����� ����� ��� ����
 ����
�����
-�
��� ��(�
�* ����� �
 �

+
������� ��
��� �������%�&�#�'��!�
��� . ������� �
 ������
��$������ ��
������ �
�%�&� .

)���

�� ��� ��
!����
�

������� �	�
�	��
��� ������ �� ������

� C(1) �����"��
 �����
& ��)��!�������/

ξ
n

=
1√
3

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1

1

1

0

0

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

, ξ
z

=
1√
2

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1

0

−1

0

0

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

, ξ
p

=
1√
6

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1

−2

1

0

0

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

,



�� �� ������� � 	
���� 
� ��

������� ��		�
���� ���
������

ξ
Q

=

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

0

0

0

1

0

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

, ξ−Q
=

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

0

0

0

0

1

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

. ������

�		
� ��

�	�
�
� ����
�������

C(1) = 3 cn ξ
n
◦ ξ

n
+ 2 cs ξ

z
◦ ξ

z
. ������

� C(2) �������
� ����
�� ��
����	�
�
	�

ξ
+

=
1√
2

⎛
⎜⎜⎜⎜⎜⎜⎝

1

1

0

0

⎞
⎟⎟⎟⎟⎟⎟⎠

, ξ′
+

=
1√
2

⎛
⎜⎜⎜⎜⎜⎜⎝

1

−1

0

0

⎞
⎟⎟⎟⎟⎟⎟⎠

,

ξ− =
1√
2

⎛
⎜⎜⎜⎜⎜⎜⎝

0

0

1

1

⎞
⎟⎟⎟⎟⎟⎟⎠

, ξ′− =
1√
2

⎛
⎜⎜⎜⎜⎜⎜⎝

0

0

1

−1

⎞
⎟⎟⎟⎟⎟⎟⎠

���� �

!� � ��

�	�
�
� ����
�������

C(2) = 2 cs ξ
+
◦ ξ

+
+ 2 cs ξ− ◦ ξ−. ����"�

� ��
����	�
�
	 ��#$��!#!��� 	%��&�� ���$������	 � ���	�� !�'�	�( 	
�����)��� �*##+

�!�&�	�

Dnn = 3 ξ
n
D(1)ξ

n
, �������

Dnz =
√

6 ξ
n
D(1)ξ

z
, �������



���� � �����	 
� �
��������� �����
���� ��
�
��
������ ��

Dzz = 2 ξ
z
D(1)ξ

z
, ������	

DnQ = 2
√

3ξ
n
D(1)ξ

Q
, �����
	

DzQ = 2
√

2ξ
z
D(1)ξ

Q
, ������	

Dn−Q = 2
√

3ξ
n
D(1)ξ−Q

, ������	

Dz−Q = 2
√

2ξ
z
D(1)ξ−Q

, �����
	

DQQ = 4 ξ
Q
D(1)ξ

Q
, ������	

DQ−Q = 4 ξ
Q
D(1)ξ−Q

, ������	

D−Q−Q = 4 ξ−Q
D(1)ξ−Q

, ������	

D++ = 4 ξ
+
D(2)ξ

+
, ������	

D+− = 4 ξ
+
D(2)ξ−, ������	

D−− = 4 ξ−D(2)ξ−. ������	

� ������� ������� ������ ���� ����������� ��� � ����!	 ��"����� � �#������$ �
%� ��&

��� 
��������'

D(1)&�$� �
�
� �
%� �����'

Dnn = �Πnn + cnΠnnDnn + csΠnzDnz, ������	

Dnz = �Πnz + cnΠnnDnz + csΠnzDzz, ������	

Dzz = �Πzz + cnΠnzDnz + csΠzzDzz, ������	

DnQ = �ΠnQ + cnΠnnDnQ + csΠnzDzQ, ���()�	

DzQ = �ΠzQ + cnΠnzDnQ + csΠzzDzQ, ���()�	



�� �� ������� � 	
���� 
� ��

������� ��		�
���� ���
������

Dn−Q = �Πn−Q + cnΠnnDn−Q + csΠnzDz−Q, ������	

Dz−Q = �Πz−Q + cnΠnzDn−Q + csΠzzDz−Q. �����
	

� �
�������� ����
������ ��������
� �
� �
���
� ����
 �
�
�!

DQQ = �ΠQQ + cnΠnQDnQ + csΠzQDzQ, ������	

DQ−Q = �ΠQ−Q + cnΠnQDn−Q + csΠzQDz−Q, �����
	

D−Q−Q = �Π−Q−Q + cnΠn−QDn−Q + csΠz−QDz−Q, ������	

��� �� "
�
� �# $��� � �����%&����'�&��$%���� �
�"
�� �� �
�
��
��� � �(�(���'

$%����' �� 
��

� � �&���(�(���$%���� �
�"
�� ���
� ���

D(2)'
)� ����� 
��
��
 
�!

� �&��$%���� ���%� �
���� ����
������ ��������
� ���� *���
��&���������!

D++ = �Π++ +
cs

2
Π++D++ +

cs

2
Π+−D+−, ����+�	

D+− = �Π+− +
cs

2
Π++D+− +

cs

2
Π+−D−−, ����+
	

D−− = �Π−− +
cs

2
Π+−D+− +

cs

2
Π−−D−−. ����+�	

� �
� � 
��
��
 �
����
�
� �
�������� � �*�
 �
�)
� �
���
�!

Dnn = �
Πnn − cs (ΠnnΠzz − Π2

nz)

(1 − cnΠnn) (1 − csΠzz) − cncsΠ2
nz

, ������	

Dnz = �
Πnz

(1 − cnΠnn) (1 − csΠzz) − cncsΠ2
nz

, �����
	

Dzz = �
Πzz − cn (ΠzzΠnn − Π2

nz)

(1 − cnΠnn) (1 − csΠzz) − cncsΠ2
nz

, ������	



���� � �����	 
� �
��������� �����
���� ��
�
��
������ ��

DnQ = �
ΠnQ − cs (ΠnQΠzz − ΠnzΠzQ)

(1 − cnΠnn) (1 − csΠzz) − cncsΠ2
nz

, �������

DzQ = �
ΠzQ − cn (ΠzQΠnn − ΠnzΠnQ)

(1 − cnΠnn) (1 − csΠzz) − cncsΠ2
nz

, �����	�

Dn−Q = �
Πn−Q − cs (Πn−QΠzz − ΠnzΠz−Q)

(1 − cnΠnn) (1 − csΠzz) − cncsΠ2
nz

, �����
�

Dz−Q = �
Πz−Q − cn (Πz−QΠnn − ΠnzΠn−Q)

(1 − cnΠnn) (1 − csΠzz) − cncsΠ2
nz

, �������

DQQ = �
{
ΠQQ − cn

(
ΠQQΠnn − Π2

nQ

)− cs

(
ΠQQΠzz − Π2

zQ

)
+cncs

[
ΠQQ

(
ΠnnΠzz − Π2

nz

)− ΠnQ (ΠzzΠnQ − ΠnzΠzQ)

−ΠzQ (ΠnnΠzQ − ΠnzΠnQ)]} /
[
(1 − cnΠnn) (1 − csΠzz) − cncsΠ

2
nz

]
, �������

DQ−Q = � {ΠQ−Q − cn (ΠQ−QΠnn − ΠnQΠn−Q) − cs (ΠQ−QΠzz − ΠzQΠz−Q)

+cncs

[
ΠQ−Q

(
ΠnnΠzz − Π2

nz

)− ΠnQ (ΠzzΠn−Q − ΠnzΠz−Q)

−ΠzQ (ΠnnΠz−Q − ΠnzΠn−Q)]} /
[
(1 − cnΠnn) (1 − csΠzz) − cncsΠ

2
nz

]
, �����
�

D−Q−Q = �
{
Π−Q−Q − cn

(
Π−Q−QΠnn − Π2

n−Q

)− cs

(
Π−Q−QΠzz − Π2

z−Q

)
+cncs

[
Π−Q−Q

(
ΠnnΠzz − Π2

nz

)− Πn−Q (ΠzzΠn−Q − ΠnzΠz−Q)

−Πz−Q (ΠnnΠz−Q − ΠnzΠn−Q)]} /
[
(1 − cnΠnn) (1 − csΠzz) − cncsΠ

2
nz

]
, �������

D++ = �
Π++ − cs

2

(
Π++Π−− − Π2

+−
)

(
1 − cs

2
Π++

) (
1 − cs

2
Π−−

)− ( cs

2

)2
Π2

+−
, �������

D+− = �
Π+−(

1 − cs

2
Π++

) (
1 − cs

2
Π−−

)− ( cs

2

)2
Π2

+−
, �������

D−− = �
Π−− − cs

2

(
Π−−Π++ − Π2

+−
)

(
1 − cs

2
Π++

) (
1 − cs

2
Π−−

)− ( cs

2

)2
Π2

+−
. �������
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� C(1) �����	
�� �
����� �
������������

χ
n

=
1√
3

⎛
⎜⎜⎜⎝

1

1

1

⎞
⎟⎟⎟⎠ , χ

z
=

1√
2

⎛
⎜⎜⎜⎝

1

0

−1

⎞
⎟⎟⎟⎠ , χ

p
=

1√
6

⎛
⎜⎜⎜⎝

1

−2

1

⎞
⎟⎟⎟⎠ .

����� ����������� ����������
�

C(1) = 3 cn χ
n
◦ χ

n
+ 2 cs χ

z
◦ χ

z
. ������

� C(2) �����	
�� �
����� �
������������

χ
+

=
1√
2

⎛
⎝ 1

1

⎞
⎠ , χ′

+
=

1√
2

⎛
⎝ 1

−1

⎞
⎠ . ������

 ���������� ����������
�

C(2) = 2 cs χ+ ◦ χ+. ����!�

� C(3) �����	 �
���������
��

χ− =
1√
2

⎛
⎝ 1

1

⎞
⎠ , χ′

− =
1√
2

⎛
⎝ 1

−1

⎞
⎠ ����"�

#� 
 ����������� ����������
�

C(3) = 2 cs χ− ◦ χ−. ����$�

� C(4) #� C(5) �����	�� 
�����
� % ������& 
 
�����'� �
����� �
����������� �()*

+��������
� χ
Q

= χ−Q
= 1� � ,���
��
( �������� �������-��� �.((�#�)���� 
 �������
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�
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���� 	
����� ����� �
�	
���� �
��

Dnn = 3 χ
n
D(1)χ

n
, �����
�

Dnz =
√

6χ
n
D(1)χ

z
, �������

Dzz = 2 χ
z
D(1)χ

z
, �������

DnQ = 0, �������

DzQ = 0, �����
�

Dn−Q = 0, ����� �

Dz−Q = 0, �������

DQQ = 4 χ
Q
D(4)χ

Q
, �����	�

DQ−Q = 0, �����!�

D−Q−Q = 4 χ−Q
D(5)χ−Q

, �������

D++ = 4 χ
+
D(2)χ

+
, �������

D+− = 0, �������

D−− = 4 χ−D(3)χ−. �������

" �
���#
���$���
� ����$�� !��
�#
 �
�$�� #
�� �
���$����� ���� 
 ��#
��
�% 
��
��
�
�


����
��

Dnn = �Πnn + cnΠnnDnn + csΠnzDnz, ����&
�

Dnz = �Πnz + cnΠnnDnz + csΠnzDzz, ����&��

Dzz = �Πzz + cnΠnzDnz + csΠzzDzz, ����&��

'� �
�
��
�!� 
��
�( 
�!� 
 ����$!� �������	
��� 
�
���( 
 )*  ��!��
� �
������ "
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D++ = �Π++ +
cs

2
Π++D++, �������

D−− = �Π−− +
cs

2
Π−−D−−, �������

DQQ = �ΠQQ, �������

D−Q−Q = �Π−Q−Q. �����	�

����
	�� � ��������� � �������� ���	�!������ ��"#$��

Dnn = �
Πnn − cs (ΠnnΠzz − Π2

nz)

(1 − cnΠnn) (1 − csΠzz) − cncsΠ2
nz

, �������

Dnz = �
Πnz

(1 − cnΠnn) (1 − csΠzz) − cncsΠ2
nz

, �������

Dzz = �
Πzz − cn (ΠzzΠnn − Π2

nz)

(1 − cnΠnn) (1 − csΠzz) − cncsΠ2
nz

, �������

D++ = �
Π++

1 − cs

2
Π++

, �����	�

D−− = �
Π−−

1 − cs

2
Π−−

, �������

DQQ = �ΠQQ, �������

D−Q−Q = �Π−Q−Q. �������
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�� � ������&������ ���� �
�������� 	��������������!��
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!��!������ ,���� P (1) = F (1)
� F (4)

� F (5) !� P (2) = F (2)
� F (3)�
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��������� �� � "	���# �� ��		������� ����$��
����� �����$� �  ������� ��	���� ����� ��	����#

�������%

&'������(�$#���������(��� ����
 � ����� �� � ����� �����  ���	������) 	��
���	 ������
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�������  ���	������� ����� �� ������ ��
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,���� �����������  ��
 � 	��
���	 �)	)���� ������ ���� a
r0

� 1� � �� a �� s# �����- ���	���

 ���� �� r0 � 	��������� ������� ��$������! � ./!/01 ���	�������� ������� ����(�� ���	����

��	�����	���� � �����	 '���#�������� �������� ��
�� $��������� ��� 234� 3/5%

cn =
4π�

2

M

a0 + 2a2

3
, .6!36�1

c s =
4π�

2

M

a2 − a0

3
, .6!36(1

� �� a0 �� a2 � 4 �����$� 7 ���
���- ���� �����	�� s# �����- ���	���  �����!

���� ������	
���
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���	�
������	�� �����
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 *���� ����&9���� ����� ��������� ����	 �� ��� ��������  ��
 �� ��
	��#

������ ��	���������(�� "��
����� ��
�� ������� ���! +������(�� � 	��
��	�����	 � ���#


�������  ���������$��
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√

ncζr1� � "��
����� ��
���� ����� ��
�� ����� ���������

�����:����������� �����$�� ��
���� ��� 2605! 9���	�� ������� ���� ������ � 97 �����(��

� ���
������� ��	���� �����	� ζ = (ζ+, 0, ζ−)! +���� ��$�$����� ���
�� ��
�� �����	�

����
 � ζ ′ = (ζ+eiϕ+ , 0, ζ−eiϕ−) ����-! ;�� ����  ��
 ��� ��������� ����� $��� ���� ���

"��
����� ��
�� $�	 ���! <�		��������� ����(�� � �����	��� ��
 ���������� ��� ��	���

ζ = (1, 0, 0)� �����
�� ��$�$����� �� ������ ζ ′ = (eiϕ+ , 0, 0) ����- ���������! +�
 ���������

����� $��� ��
 "��
����� ��
�� ������� ���!
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��� �����

� ������	 
���	�
����	 �	���
 � �� ����	��
 �� ������
�	����� ����
��������
�	 �����

���
���

Σ++
1,1 (0, 0) − Σ++

1,−1(0, 0) = 0, � !"#�$

Σ−−
1,1 (0, 0) − Σ−−

1,−1(0, 0) = 0, � !"#�$

Σ+−
1,1 (0, 0) − Σ+−

1,−1(0, 0) = 0. � !"#�$
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�
�	(
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�� � 0�
��+*�����+�
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��
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�
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+��+���*�	 
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Σ++
11 (0, 0) =

1

nc,+

∑
i

∑
α

(
i

2

)2

Φ(n)i,j
α . ������

� Σ++
1−1(0, 0) 	��� 
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Σ++
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1
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∑
i

∑
α

(
i
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i

2
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)
Φ(n)i,j

α . ������
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�
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Σ+
0,1 =

1√
nc,+

∑
i

∑
α

(
i

2

)
Φ(n)i,j

α ����+�

,�
%	
&� 
�	 	 ������$������ �
 ����+� �����
������ 	 �-�����&� ����!�&�
�� !������

Σ++
11 (0, 0) − Σ++

1−1(0, 0) =
1√
nc,+

Σ+
0,1. ����.�

/�� ��	� 
 ���� � �$ %��� �0�1�� ��
����
 	 Σ+
0,1 = 02� ���'�����&�$ 	&	& 	 	 ����.�

�##�� 	 ����3	� ����!�&�
� 	'!	� � ��&���(� 
 %	
��
* �*'�� ����&%��� �
 	 �-���

�
���� �
�

4�
 �%	�*$ %��� 	 ����� -

&������
�� ��
!�
�
�
� 
&��
���
 ��
����
� 	��	�$ %��� �	#

��
��
� ���!�
&��
�� !�
��!���� ���� �& 	&� !�
����$ %��� 	 ���0	�2��� '�5�� 
� 6����7

�������� � ���8 ����&�!� �
�9���$ %	 k = 0 �
 iωn = 0�

• ����������	�	 �	�
 � ������ ���
�
 �
����� 	 ��&���(� 
 	�	
*� �*'�� �-�������

� ��
-��
�� 	&$ %��� ��� 
�
& ���'��& ��� 	 − 
#������
�� �� �� �	�$ (�� 	&

)����%�
�&7:���
 ����
 �����
�� �����
����
  

�

Σ++
1,1 (0, 0) − Σ++

1,−1(0, 0) = 0. ����;�
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 ���� � ���������� �������� ����������� �� �!���" �����#�� � �$	

������ k = 0  	 iωn = 0 �	�� ��

���� ��������	
��
��

%� !����!��	 ��� ��� 	������ � �����������&�� �����!���&  	 � &�����!'�(	 ����� ���& &)�)��

����!����& �������	 )		������ 	�&
 ������&�� )		���	���!���&��& �������&� ���& &)���

��	� � &)���&��#�&�� ��	� 	��&	 ���&*

(
∂n

∂μ

)
T,B

= −1

�
lim
k→0

Dnn(k, 0), ����+��(
∂m

∂B

)
T,μ

= −gμB

�
lim
k→0

Dzz(k, 0), ����+��(
∂n

∂B

)
T,μ

= −gμB

�
lim
k→0

Dnz(k, 0). ����+'�

,��!�����$& ���� )		������ 	�& �����		 � �
 �� )		����	���
��$& � �-�-.� �����������&��

�����!���&  	 � ���--� &�����!'�(	 ����� ���& ���&����� Πrs
r′s′(k, iωn) �$��� & ������� ���/.�

���&�!� �����	��!��� &)������� 	�!���!		�� �	 ���!����(
 ����

P = −Π++
++(k → 0, 0), ����.��

Q = −Π00
00(k → 0, 0), ����.��

R = −Π−−
−−(k → 0, 0). ����.'�

0#� �� �	 ����
 ����

P → −Π++
++(k, iωn), ����-��

Q → −Π00
00(k, iωn), ����-��

R → −Π−−
−−(k, iωn). ����-'�
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# 
������� ������$��� � �
%�������� ������ �������� � (∂m/∂B)T,n� &� ������ � �
�������

���������' ����

(
∂m

∂B

)
T,n

= gμB
(P + R)Q + 4PR

P + Q + R + cs[(P + R)Q + 4PR]
. ()�))*

# ��� ��� ���������� ������� ��' ���� �� (+�+,�*���� ���
��  �� � cn/cs → ∞ ���������

���' ����� $����� � � ������ ��%�$� (����� � 
����
� + ��������  
�$� ��� *� - � �����

���
��
 �����	��� 
��' ���� (∂m/∂B)T,n 
����� ��%��������� ��� � ����������� �����
�����

���� -��� � �
��
��� � �������� ����� ��

��� ���	��
�
��� �����$�� ��� � �
�
����� ���� ��
��

./01� # �������� ����� ��

��� � ����� � �
� ������!�!�
� 
� � 
������ ����
� 2$��$������ �

��  ��$� ����� � ����3 �����' δμ(k, ω) ������� δB(k, ω) ����� ���� ������ 
� 3��� � �����������

�����
���� ��%������� ��� �' � � 

δn(k, ω) = −1

�
Dnn(k, ω)δμ(k, ω)− gμB

�
Dnz(k, ω)δB(k, ω), ()�)/�*

δm(k, ω) = −1

�
Dzn(k, ω)δμ(k, ω)− gμB

�
Dzz(k, ω)δB(k, ω). ()�)/�*

# ()�)/�* ���������3�

δμ(k, ω) = −gμB
Dnz(k, ω)

Dnn(k, ω)
δB(k, ω) − �

δn(k, ω)

Dnn(k, ω)
. ()�)�*

- � �����������	��� ()�)/�* ���������� ��%�$�' ����

δm(k, ω) =
Dzn

Dnn
δn(k, ω) − gμB

�

Dnn(k, ω)Dzz(k, ω) − Dnz(k, ω)Dzn(k, ω)

Dnn(k, ω)
δB(k, ω).

()�)4*
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D(n)
zz (k, ω) =

Dnn(k, ω)Dzz(k, ω) − Dnz(k, ω)Dzn(k, ω)

Dnn(k, ω)
. ����'�

( %������� �������)��*�
���� %���
)	
� 
 ��

��!"���#�� ���
����� 	
�������#*$
+ 
�
�

(
∂m

∂B

)
T,n

= lim
k→0

δm(k, 0)

δB(k, 0)
, ����,
�

#� lim
k→0

δn(k, 0) = 0. ����,*�
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(
∂m

∂B

)
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D(n)
zz (k, 0), ������
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W rs
r′s′ = V rs

r′s′ + W rs
ab Π
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cd V dc
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−�Π
(r)sr
r′s′ (k, iωn) =

∫
d3q

(2π)3

1

β�

∑
iνn

G̃r′r
11 (q, iνn)G̃ss′
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��	��� 	�
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�� ����

ε
(r)sr
cd = δs

dδ
r
c − Πba

cdV
(r)sr
ab , #$�%$
'

ε(r)n = 1(n) − Π(r)(n)C(n), #$�%$�'
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W (n)ε(r)(n) = C(n), #$�%%'
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���� 
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� 
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�� 	������� 

,�������	�� �	
��
�,
	 	
 ����������
�� 
� ������	 � ��
 ��
��
� 
�

�*���+� ������	���
� ���� ��������
+������ #&�1� ���
 ���
�
� �	
��
�,
'� )���� ��������!��


� 	������� 

,�������	�� �	��,���
�	

M rs
11 = (M rs

−1−1)
† = �

−1ncζ
†
r′ζs′W

rs′

r′s , #$�%2
'

M rs
1−1 = (M rs

−11)
† = �

−1ncζs′ζr′W
rs′

sr′ . #$�%2�'
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���!�� ��� ������� 	� 	�	�
��"

Σ̃rs
αγ = �

−1μ0δrsδαδ, #$�%�&

G̃rs
αγ =

δrsδαγ

αiωn − �−1ek

. #$�%'&
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 	 ���
������� ���	����(�)� ��������
�� 	 *�����������+���������
 ,	���


���	��	� #��-�&. /� 	 ����� ,!��������� �+��������
����
� ���
���

�� 	 ��������� ���	�

����(�)� ��� �� �0����� ����
(��� ���,	��������,�� ��������
� �	
 	 ��������� ���	����(�)�

�����1��	� ������ 	�	�
	��	. 	������ 	 �+������! �������2 	�	��� +����"

Π(n) = Π0 1(n). #$�%-&

� ��������� ���	����(�)� ����������
 	� �0����� ����
(��� ���,	�����,	�) 	 #$�%3&.#$�%$&

�� #$�%%& ����
������!�"

W
(1)
ab =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

C(r)
n + C(r)

s C(r)
n C(r)

n − C(r)
s 0 0

C(r)
n C(r)

n C(r)
n 0 0

C(r)
n − C(r)

s C(r)
n C(r)

n + C(r)
s 0 0

0 0 0 0 0

0 0 0 0 0

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

ab

, #$�45	&

W
(2)
ab =

⎡
⎢⎢⎢⎢⎢⎢⎣

C(r)
s C(r)

s 0 0

C(r)
s C(r)

s 0 0

0 0 C(r)
s C(r)

s

0 0 C(r)
s C(r)

s

⎤
⎥⎥⎥⎥⎥⎥⎦

ab

, #$�45�&



�� �� ������� � 	
���� 
� ��

������� ��		�
���� ���
������

����

C(r)
n =

cn

1 − 3cnΠ0(k, iωn)
, ���	
��

C(r)
s =

cs

1 − 2csΠ0(k, iωn)
. ���	
��


������� ���� �� ������� ���������� �W rs
r′s′� ��� ���� � !��� �� �� �"�#��� ������������

�V rs
r′s′� ���$����%� cn → C(r)

n , cs → C(r)
s ��������&��$&�� '���  ��� � �!�"���" &�������"����

�(����� )���"������*

M
(1)
γδ =�

−1

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

(C(r)
n +C(r)

s )ncζ2
+ (C(r)

n −C(r)
s )ncζ+ζ− (C(r)

n +C(r)
s )ncζ2

+ (C(r)
n −C(r)

s )ncζ+ζ−

(C(r)
n −C(r)

s )ncζ+ζ− (C(r)
n +C(r)

s )ncζ2
−

(C(r)
n −C(r)

s )ncζ+ζ− (C(r)
n +C(r)

s )ncζ2
−

(C(r)
n +C(r)

s )ncζ2
+ (C(r)

n −C(r)
s )ncζ+ζ− (C(r)

n +C(r)
s )ncζ2

+ (C(r)
n −C(r)

s )ncζ+ζ−

(C(r)
n −C(r)

s )ncζ+ζ− (C(r)
n +C(r)

s )ncζ2
−

(C(r)
n −C(r)

s )ncζ+ζ− (C(r)
n +C(r)

s )ncζ2
−

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

γδ

, ���	+��

M
(2)
γδ = �

−1

⎡
⎣ C(r)

s nc 2C(r)
s ncζ+ζ−

2C(r)
s ncζ+ζ− C(r)

s nc

⎤
⎦

γδ

. ���	+��

, -"���.)%���$������ �$�)$���$���� ������� � !��� ,� ����� �����/&$�� ���� � ���
0���

���1�� $& ���	+� ������������ ��&����� �� ����� ��� � 2����� ���.�(�����$&��� ����%�� ,

!�&�� �����/&$� ��� ���� � 2����� ���.!����#�&����� ���$����%� � )��� !�" �!������

cn → C(r)
n , cs → C(r)

s ��������&��$&�� 3�����!�� �$�� ���� ���� � &����" ��! ��������� ���� �

�ωL

csnc
��!������� �& ����������� !�"�#�

G(1)
γδ =

1

Δ(1)(k, iωn)

⎡
⎢⎢⎢⎢⎢⎢⎣

A1(k,iωn,�ωL) C1(k,iωn,�ωL) B1(k,iωn,�ωL) D1(k,iωn,�ωL)

C1(k,iωn,�ωL) A1(k,−iωn,�ωL) D1(k,iωn,�ωL) B1(k,iωn,�ωL)

B1(k,iωn,�ωL) D1(k,iωn,�ωL) A1(k,iωn,−�ωL) C1(k,iωn,−�ωL)

D1(k,iωn,�ωL) B1(k,iωn,�ωL) C1(k,iωn,−�ωL) A1(k,−iωn,−�ωL)

⎤
⎥⎥⎥⎥⎥⎥⎦

γδ

,

���	4��
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���� �� ���	
 ��

����

A1(k, iωn, �ωL) = (1 − 2csΠ0)(1 − 3cnΠ0)(iωn)3

+�
−1

[
ek(1 − 2csΠ0)(1 − 3cnΠ0) +

1

2
(cn + cs − 5cncsΠ0) nc

(
1 +

�ωL

csnc

)]
(iωn)2

−�
−2

[
e2
k(1 − 2csΠ0)(1 − 3cnΠ0) + ek (cn + cs − 5cncsΠ0)nc

(
1 − �ωL

csnc

)]
(iωn)

−�
−3

[
e3
k(1 − 2csΠ0)(1 − 3cnΠ0) +

1

2
(cn + cs − 5cncsΠ0)nce

2
k

(
3 − �ωL

csnc

)

+2ekcncsn
2
c

(
1 −
(

�ωL

csnc

)2
)]

,

B1(k, iωn, �ωL) =
1

2
�
−1 (cn − cs + cncsΠ0) nc

[
1 −
(

�ωL

csnc

)2
] 1

2 (
iωn + �

−1ek

)2
,

C1(k, iωn, �ωL) = −1

2
�
−1 (cn + cs − 5cncsΠ0) nc

(
1 +

�ωL

csnc

)
(iωn)2

+�
−1

[
1

2
e2
k (cn + cs − 5cncsΠ0)nc

(
1 +

�ωL

csnc

)
+ 2ekcncsn

2
c

(
1 −
(

�ωL

csnc

)2
)]

,

D1(k, iωn, �ωL) =
1

2
�
−1 (cn − cs + cncsΠ0) nc

[
1 −
(

�ωL

csnc

)] 1
2 (−(iωn)2 + �

−2e2
k

)
,

Δ(1)(k, iωn) = [(iωn)2 − e2
k]

2(1 − 2csΠ0)(1 − 3cnΠ0)

−2�
−2ek(cn + cs − 5cncsΠ0)nc[(iωn)2 − e2

k] + 4�
−4e2

kcncsn
2
c

[
1 −
(

�ωL

csnc

)2
]

, ��	
��


��

G(2)
γδ =

1

Δ(2)(k, iωn)

⎡
⎣ A2(k, iωn, �ωL) B2(k, iωn, �ωL)

B2k, iωn, �ωL) A2(k,−iωn, �ωL)

⎤
⎦

γδ

, ��	
��
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A2(k, iωn, �ωL) = (iωn + �
−1ek)(1 − 2csΠ0)

2 + �
−1csnc(1 − 2csΠ0),

B2(k, iωn, �ωL) = −�
−1csnc

[
1 −
(

�ωL

csnc

)] 1
2

(1 − 2csΠ0),

Δ(2)(k, iωn) = [(iωn)2 − �
−2e2

k](1 − 2csΠ0)
2 − 2�

−2ekcsnc(1 − 2csΠ0) − ω2
L. ��	�
��


 ����������� ������������ � ��	��� ��	!"� ��	!�� �� ��	!!� ����#�$���� ��#�� %��	 &$��'

������ ���$ %�� � (�����$����� ����#�$������ �%�����)�� %��� %��#������� � ���*����� (�'

����$�����)�� #+�, ����� ��-

Πnn = 3Π0 + Π
(s)++
++ + Π

(s)−−
−− , ��	����

Πnz = Π
(s)++
++ − Π

(s)−−
−− , ��	��)�

Πzz = 2Π0 + Π
(s)++
++ + Π

(s)−−
−− , ��	����

ΠnQ = 2
(
Π

(s)++
+− + Π

(s)−−
+−

)
, ��	����

ΠzQ = 2
(
Π

(s)++
+− − Π

(s)−−
+−

)
, ��	����

Πn−Q = 2
(
Π

(s)++
−+ + Π

(s)−−
−+

)
, ��	����

Πz−Q = 2
(
Π

(s)++
−+ − Π

(s)−−
−+

)
, ��	����

ΠQQ = 4Π0 + 4Π
(s)−+
+− , ��	����

ΠQ−Q = 0, ��	����

Π−Q−Q = 4Π0 + 4Π
(s)+−
−+ , ��	��#�

Π++ = 4Π0 + 2
(
Π

(s)0+
+0 + Π

(s)−0
0−

)
, ��	����

Π+− = 2
(
Π

(s)0+
−0 + Π

(s)−0
0+

)
, ��	����

Π−− = 4Π0 + 2
(
Π

(s)0+
+0 + Π

(s)−0
0−

)
��	��%�

�� � �$���*����� (�����$����� *�����$�� %��� � .�����*)��'�+$��/���)��	 0$�� *��� �
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Dnn(k, iωn) = �

{
3Π0(1 − 2csΠ0)[(iωn)2 − �

−2e2
k]

2 + 2�
−2eknc(1 − 5csΠ0)[(iωn)2 − �

−2e2
k]

−4�
−4e2

kcsn
2
c

[
1 −
(

�ωL

csnc

)2
]}

/Δ(1), �������

Dnz(k, iωn) = 2ek

ωL

cs

(iωn)2 − �
−2e2

k

Δ(1)
, �������

Dzz(k, iωn) = �

{
2Π0(1 − 3cnΠ0)[(iωn)2 − �

−2e2
k]2 + 2�

−2(1 − 5cnΠ0)eknc[(iωn)2 − �
−2e2

k]

−4�
−4e2

kcnn
2
c

[
1 −
(

�ωL

csnc

)2
]}

/Δ(1), �������

DnQ(k, iωn) = 2�
−1eknc

[
1 −
(

�ωL

csnc

)2
] 1

2 {
(1 − 2csΠ0)[(iωn)2 − �

−2e2
k]q − 2ωL(iωn)

−2�
−2ekcsnc

}
/Δ(1), ����� �

DzQ(k, iωn) = 2nc

[
1 −
(

�ωL

csnc

)2
] 1

2 {
− (1 − 3cnΠ0)(iωn)[(iωn)2 − �

−2e2
k]

+2�
−2ekcnnc(iωn) + 2�

−2e2
kωL

cn

cs

}
/Δ(1), �������

Dn−Q(k, iωn) = DnQ(k,−iωn), �������

Dz−Q(k, iωn) = DzQ(k,−iωn), �������

D++(k, iωn) = 2nc

{
2�Π0(1 − 2csΠ0)n

−1
c [(iωn)2 − �

−2e2
k] − 4�

−1ekcsΠ0 +
�ωL

csnc

(iωn)

+�
−1ek + �

−1 (�ωL)2

csnc

}
/Δ(2), �����!�

D+−(k, iωn) = 2�
−1ncek

[
1 −
(

�ωL

csnc

)2
] 1

2

/Δ(2), �����	�

D−−(k, iωn) = D++(k,−iωn), �����"�
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DQQ(k, iωn) = 4�Π−+
+− + 4�[(iωn)

2 − �
−2e2

k]2[cn(Π
(s)++
+− + Π

(s)−−
+− )2

+cs(Π
(s)++
+− − Π

(s)−−
+− )2(1 − cnΠ0) − 4cncsΠ0(Π

(s)++
+−

2
+ Π

(s)−−
+−

2
)

−4cncs(Π
(s)−−
−− Π

(s)++
+−

2
+ Π

(s)++
++ Π

(s)−−
+−

2
)]/Δ(1), ������	

DQ−Q(k, iωn) = 4�[(iωn)2 − �
−2e2

k]
2[cn(Π

(s)++
+− + Π

(s)−−
+− )2

+cs(Π
(s)++
+− − Π

(s)−−
+− )2(1 − cnΠ0) − 8cncsΠ0(Π

(s)++
+− Π

(s)−−
+− )

−4cncs(Π
(s)−−
−− Π

(s)++
+− Π

(s)−−
+− + Π

(s)++
++ Π

(s)−−
+− Π

(s)++
+− )]/Δ(1), �����
	

D−Q−Q(k, iωn) = DQQ(k, iωn). ������	

�
����� �� �� ������� ��
������� �
��

Δ(1) = detε(1)[(iωn)2 − �
−2e2

k]2, ������	

Δ(2) = detε(2)[(iωn)2 − �
−2e2

k], ������	

��



detε(1) = (1 − cnΠnn)(1 − csΠzz) − cncsΠ
2
nz, ������	

detε(2) =
(
1 − cs

2
Π++

)(
1 − cs

2
Π−−

)
− c2

s

4
Π2

−+. ������	

 �����	 �����
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�� �� ���#$������� $� �
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Σ̃++
αγ = �

−1μ0δαγ ,  !�"�	#

Σ̃ 0 0
αγ = �

−1(μ0 − csm + �ωL)δαγ ,  !�"��#

Σ̃−−
αγ = �

−1(μ0 − 2csm + 2�ωL)δαγ .  !�"�$#

%

�
 	 ������ &���
'����(�
����

G̃++
αγ (k, iωn) =

1

αiωn − �−1ek

,  !�")	#

G̃ 0 0
αγ (k, iωn) =

1

αiωn − �−1(ek − csm + �ωL)
,  !�")�#

G̃−−
αγ (k, iωn) =

1

αiωn − �−1(ek − 2csm + 2�ωL)
.  !�")$#

�� �*����( ����
$��� ���+	��������+�� ��������
� (	
 	 ��������� ���	����$�,��	 �����(� 	

������� ���������� �����- 	�	����	�

Π
(r)(1)
ab =

⎡
⎢⎢⎢⎣

Π
(r)++
++ 0 0

0 Π
(r)00
00 0

0 0 Π
(r)−−
−−

⎤
⎥⎥⎥⎦

ab

,  !�"�	#

Π
(r)(2)
ab =

⎡
⎣ Π

(r)0+
+0 0

0 Π
(r)−0
0−

⎤
⎦

ab

,  !�"��#

Π
(r)(3)
ab =

⎡
⎣ Π

(r)+0
0+ 0

0 Π
(r)0−
−0

⎤
⎦

ab

.  !�"�$#

 !�"�.#
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W (1)= 1

detε(r)(1)

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

cn+cs−cncs

(
Π

(r)00
00 +4Π

(r)−−

−−

)
cn−2cncsΠ

(r)−−

−−
cn−cs+cncsΠ

(r)00
00

cn−2cncsΠ
(r)−−

−−
cn−cncs

(
Π

(r)++
++ +Π

(r)−−

−−

)
cn−2cncsΠ

(r)++
++

cn−cs+cncsΠ
(r)++
++ cn−2cncsΠ

(r)++
++ cn+cs−cncs

(
Π

(r)00
00 +4Π

(r)++
++

)

⎤
⎥⎥⎥⎥⎥⎥⎥⎦

,

�������

W (2) =
1

detε(r)(2)

⎡
⎣ cs cs

cs cs

⎤
⎦ , �������

W (3) =
1

detε(r)(3)

⎡
⎣ cs cs

cs cs

⎤
⎦ , �����	�

W+−
−+ = W−+
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, ���%�
�

Π
(s)−+
+− =

�
−1nc
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(1−2csΠ0)(1−3cnΠ0)−(cn+cs−5cncsΠ0)(Π
(s)++
++ +Π

(s)−−
−− )+4cncsΠ

(s)++
++ Π

(s)−−
−− = 0. �����
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(
1 − 2

ζ
(

3
2

)
π

1
2

λξ′−

(ξB−
s )2

1

(Ωkλ)2

)(
1 − 3

ζ
(

3
2

)
π

1
2

λξ′−

(ξB−
n )2

1

(Ωkλ)2

)

−
(

1

ζ2−

[(
λ

ξB−
n

)2

+

(
λ

ξB−
s

)2
]

1

(kλ)2

1

Ω2 − 1
− 5

ζ
(

3
2

)
π

1
2 ζ2−

(
λ3ξ′−

ξB−
n

2ξB−
s

2

)
1

Ω2 − 1

1

(kλ)2

1

(Ωkλ)2

)

+
1

ζ4−

(
1 − b2

γ2
0

)(
λ4

ξB−
n ξB−

s

)
1

(kλ)4

1

(Ω2 − 1)2
+ 6

ζ
(

3
2

)2
π

(λξ′−)2

ξB−
s

2ξB,−
n

2

1

(Ωkλ)4
= 0.
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Ω =
a−1

(kλ)
+ O ((kλ)0
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a4
−1 −

[
ζ
(

3
2

)
π

1
2

(
2

λξ′−

(ξB−
s )2

+ 3
λξ′−

(ξB−
n )2

)
+

1

ζ2−

((
λ

ξB−
n

)2

+

(
λ

ξB−
s

)2
)]

a2
−1

+5
ζ
(

3
2

)
π

1
2 ζ2−

(
λ3ξ′−

ξB−
n

2ξB−
s

2

)
+

1

ζ4−

(
1 − b2

γ2
0

)(
λ4

ξB−
n ξB−

s

)
+ 6

ζ
(

3
2

)2
π

(λξ′−)2

ξB−
s

2ξB−
n

2 = 0.
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��� �� 	(��!
� �
����
�� ���
��

a2
−1 =

1

ζ2
−1

(
λ2

ξB−
n

2 +
λ2

ξB−
s

2

)
+

ζ
(

3
2

)
π

1
2

(
3

λξ′−

ξB−
n

2 + 2
λξ′−

ξB−
s

2

)

±

√√√√[ 1

ζ2
−1

(
λ2

ξB−
n

2 − λ2

ξB−
s

2

)
+

ζ
(

3
2

)
π

1
2

(
3

λξ′−

ξB−
n

2 − 2
λξ′−

ξB−
s

2

)]2

+
1

ζ4−

b2

γ2
0

λ4

ξB−
n

2ξB−
s

2

����)�

' �� &��	 ������� �
���
	 �
���
	 �� �&���������
� ���
����
� �
��
	� ω± = c±k ��

c2
± =

(cn + cs)nc + (3cn + 2cs)p ±
√

[(cn − cs)nc + (3cn − 2cs)p]2 + 4cncsn2
c

(
gμBB
csnc

)2

2
,

����*�
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������
 �
���� �� ���	
 ��

���� p = Γ(3/2)ζ(3/2)/4π2λ3 � ��	
������
�� �������
�
 �������� ����������� ������
���

���� �� �� ����	��� T = 0 ��	����
����� 	��������
 ������ �	�� ��	� �� ������� 
�����

� 	���
���������  ����
���
 �� !"#$� % &'��"(���� � ���������)
 ������ 
�*�+����� cs/cn����

 ����� ������� 
)���,� �-

c2
+ =

cnn

M
− 4

csn+n−
nM

&'��.�(

c2
− =

csnc

M
+ 4

csn+n−
nM

, &'��.�(

���� nr = nc,r + n′
r� ����� � 
)���,������ � ���������
� ���
 ��	 ���/� ��	����
�����

+�����
 	�� �� �0�������
����� 
���� ����� �������� ������� 1����� �,�/�2 ���������
�

+�����
 	�� � ���+���������� �	��� ��������� ��
	��
�� ���
����/�
 � �
��
� 1��� �
� ������
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(
1 + 2i

(λξ′−)

(ξB−
s )2

1

(kλ)

1

Ω

)(
1 + 3i

(λξ′−)

(ξB−
n )2

1

(kλ)

1

Ω

)

− 1

ζ2−

((
λ

ξB−
n

)2

+

(
λ

ξB−
s

)2

+ 5i
(λ3ξ′−)

(ξB−
n ξB−

s )2

1

(kλ)

1

Ω

)
1

(kλ)2

1

Ω2 − 1

+
1

ζ4−

(
1 − b2

γ2
0

)
λ4

(ξB−
n ξB−

s )2

1

(kλ)4

1

(Ω2 − 1)2
= 0.

&'��'(

7������
� � ���� ���� Ω � 1 &,�� Ω2 − 1 ≈ Ω2(� �� � 	�����
��

Ω =
a−1

(kλ)
+ O ((kλ)0

)
&'��3(

������������� � �� �!"#�� $%�!&'#��� � ( %) ��!�� ��*+

Ω =

nmax∑
−nmin

an(kλ)n

�!�,��� ,�*���-, k → 0 ��!!������ nmin + nmax < 0� �,,�* Ω2 �.�"�� � (�� �� '� � 1� k → 0 ����)���/
� 0�!�)��! �.�"�� ,1/�!2�)�-�,�)! 0���#!!�
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������� ��	�
�� a−1�	� � �
������� �������� �������

a4
−1 + i

(
3

(λξ′−)

(ξB−
n )2

+ 2
(λξ′−)

(ξB−
s )2

)
a3
−1 −

1

ζ2−

((
λ

ξB−
n

)2

+

(
λ

ξB−
s

)2

+ 6
(λξ′−)2

(ξB−
n ξB−

s )2

)
a2
−1

− 5i
1

ζ2−

(λ3ξ′−)

(ξB−
n ξB−

s )2
a−1 +

1

ζ4−

λ4

(ξB−
n ξB−

s )2

(
1 − b2

γ2
0

)
= 0.
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�� ��� ��������� ��������! �"������ "�����#
#� �
���$�%

�� ��&'� "��� (�����

a−1 = a
(0)
−1 + iα, ����)�

�*�� |α/a
(0)
−1| � 1 %
 a

(0)
−1 "�����#
� �

a
(0)
−1

4 − 1

ζ2−

((
λ

ξB−
n

)2

+

(
λ

ξB−
s

)2

+ 6
(λξ′−)2

(ξB−
n ξB−

s )2

)
a

(0)
−1

2
+

1

ζ4−

λ4

(ξB−
n ξB−

s )2

(
1 − b2

γ2
0

)
= 0

������

������������ +�*�
��#��� � ξ′− � ξB−
n,s ����%���� � O

((
ξ′

ξB−
n,s

)2
)

������� ��*�������&'��

����	

(a
(0)
−1)

2 =
λ2

2ζ−

⎡
⎣ 1

(ξB−
n )2

+
1

(ξB−
s )2

±
√(

1

(ξB−
n )2

− 1

(ξB−
s )2

)2

+ 4
1

(ξB−
n ξB−

s )2

b2

γ2
0

⎤
⎦ . ����,�

��'�#� a−1 = a
(0)
−1+iα�� ��$	�� � ������ ���������� %
 �� |α/a

(0)
−1| ≤ 1 ����%������ "����������

�� α���� ����#	�
 ������� "����	���! α�	� � �
������� ����&��%
� ��-&'��

α = − λξ′

4(ξB−
n ξB−

s )2

⎡
⎢⎢⎣3(ξB−

s )2 + 2(ξB−
n )2 ±

(3(ξB−
s )2 − 2(ξB−

n )2)
(

1

(ξB−
n )2

− 1

(ξB−
s )2

)
ξB−
n ξB−

s√(
(ξB−

n )2−(ξB−
s )2

ξB−
n ξB−

s

)2

+ 4 b2

γ2
0

⎤
⎥⎥⎦ .

������

(#�*���! *��� α ��
��#� ����
! �"��� �
������"%��� �� O
((

ξ′

ξB−
n,s

)2
)
����%�������� .� ω �


�α �������� ������� � �!� ��"���#"��� �� $ ��%&�� '�#(%)*� +$%,� �����-�� $)�$ �(����! ,�. )� ' ����
�%�/�(�0$� $ +$%,�  %%��+� $ �������� ���� +����/ �$#&$ ��)���%����
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 ��

�������	 k
���
 �� ��� ��� ��	� ��	���� ����	� ω = c±k − iγ±k
 ����

c2
± =

⎡
⎣cn + cs ±

√
(cn − cs)2 + 4cncs

(
gμBB

csnc

)2
⎤
⎦ nc

2M
�������

γ± =

⎡
⎢⎢⎣3cn + 2cs ± (3cn − 2cs)(cn − cs)√

(cn − cs)2 + 4cncs

(
gμBB
csnc

)2

⎤
⎥⎥⎦ M

8π�3β
. �������

� ����	 ��	� ��� ��	
 ���� � ����� �� �	 ����� �� ����� ��!����� "�!���#��� ��!����	�$

k
��� �������	 $%���&��	� k → 0 ������	����� �e2
k �����'�!���	�����
 ����� � ���'�!�	 $(�%��


	�!!��
 ��!' �� nc $��������#�	)�)	�! ��!�	 �*���	�$����� 	���������� +���	������ �

!'�$�������� ��!����	#�� cn � cs ,���������

c2
+ =

(cn + cs)nc

M
− 4csnc,+nc,−

nc

cs

M
, �������

c2
− =

4csnc,+nc,−
nc

cs

M
, �������

γ+ =
3M

4π�3

[
cn − cs

(
gμBB

csnc

)2
]

kBT, �����-�

γ− =
csM

4π�3

[
2 + 3

(
gμBB

csnc

)2
]

kBT. �������

� ./0 ��������'��� 	������ � ������ �!'������� $��� ��!�����#�$
 ����� � $(�%��	�!!��


��!' � �����* ������� ��	 ��!�$ �������$ ��!� /	�$ �� ω− = −iγ−k !��1�	���	� $%�����

� ��!������� �!'������

−5i
1

ζ2−

(λ3ξ′−)

(ξB−
n ξB−

s )2

1

(kλ)

1

Ω

1

(kλ)2

1

Ω2 − 1
+

1

ζ4−

(
1 − b2

γ2
0

)
λ4

(ξB−
n ξB−

s )2

1

(kλ)4

1

(Ω2 − 1)2
= 0.

����2�

� ��!����	� Ω = a−1

(kλ)
+ O((kλ)0) ���$��� $���	��� a−1 = −i 2λ

5ξ′−

(
1 + b

γ0

)
� 3����

γ− =
8π�

3nc,−
5M2kBT

. ������
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�� �� ��! � ����� ����� ����������� "�����	���"�	 	������� ���� �� ��� ���� ���� ��

ω− ��������
�� ��� ���	� � ��������	���	�� ������� nc,−����	 �#��� �	!

������ ����	
���
 
��
�

$��� ��������
��� �%�������� � &�!'' ( �������
� �
�����	��� � ���! � ����	 �� � �����	��)

(1 − 2csΠ0)
2 − cs(1 − 2csΠ0)(Π

(s)+0
0+ + Π

(s)0−
−0 + Π

(s)0+
+0 + Π

(s)−0
0− )

−c2
s

(
(Π

(s)+0
0− + Π

(s)0+
−0 )2 − (Π

(s)+0
0+ + Π

(s)0−
−0 )(Π

(s)0+
+0 + Π

(s)−0
0− )

)
= 0.

&*!�'(

� �%����		�� �� �� ��� ����� �������� "���	�� 
�� � ����� ����� �������� ��
�� +��� �

,�����	�� ��	�"��� -./ ���������0�� "�����	� ���! .�
�"� � %�	�����+��� �������
����)

(
1 + 2i

(λξ′−)

(ξB−
s )2

1

(kλ)

1

Ω

)2

− 1

ζ2
−

(
λ

ξB−
s

)2(
1 + 2i

(λξ′−)

(ξB−
s )2

1

(kλ)

1

Ω

)
1

(kλ)2

1

Ω2 − 1

− 1

4ζ4−

b2

γ2
0

(
λ

ξB−
s

)4
1

(kλ)4

1

Ω2 − 1
= 0.

&*!�1(

2�������	"�� ���� Ω2 − 1 ≈ Ω2)

Ω3 + 4i
(λξ′−)

(ξB−
s )2

1

(kλ)
Ω2 −

(
1

ζ2−

(
λ

ξB−
s

)2

+
1

4ζ4−

(
λ

ξB−
s

)4
1

(kλ)2

b2

γ2
0

+ 4
(λξ′−)2

(ξB−
s )4

)
1

(kλ)2
Ω

− 2i
1

ζ2−

(λ3ξ′−)

(ξB−
s )4

1

(kλ)3
= 0.

&*!�3(

4�������� � .���	��0�" ����	 ���)

ω(2) = ±�
−1
√

e2
k + 2ekcsN0 + (gμBB)2. &*!��(

$� ��� ��%%�	 ��� �	���5 ��������
�� ���	���� ��%�� B → 0 �"�	 �#��� �	! $� ��� ��	�����

���� � �������� �
� "�	���������"�	 � ��������
� ��		��� ���"�	�����! � �%����		�� �� ��
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� ��	�

�������� �
 ������������ ���� � k ���
�� �� ��� ��� �� ��������	�
��� �
�� �������� ����

�

(gμBB)2, 2ekcsnc � e2
k, !��"#$

��	����	 �����		���� ���� �� e2
k ����� ������ �	�������	���� � ������������ � ������� ���

��� �����
��� ��	% ��
����� ��������� ��� � ����	��
��

&� (gμBB)2 � 2ekcsnc :

'���� � ����	��
�

Ω =
a−2

(kλ)2
+

a−1

(kλ)
+ a0 + a1(kλ) + O((kλ)2) !��"&$

�	����� ����

(�� �� an ���(�����%��� ����������% �����	����)

a−2 : a2
−2 −

1

4ζ4−

b2

γ2
0

(
λ

ξB−
s

)4

= 0, !��"*�$

a−1 : a2
−2

(
3a−1 + 4i

(λξ′−)

(ξB−
s )2

)
− 1

4ζ4−

b2

γ2
0

(
λ

ξB−
s

)4

a−1 = 0 !��"*�$

a0 : 3a−2a
2
−1 + 3a2

−2a0 + 8i
(λξ′−)

(ξB−
s )2

a−2a−1 −
(

1

ζ2−

(
λ

ξB−
s

)2

+ 4
(λξ′−)2

(ξB−
s )4

)
a−2

− 1

4ζ4−

(
λ

ξB−
s

)4
b2

γ2
0

a0 = 0, !��"*�$

a1 : a3
−1 + 6a−2a−1a0 + 3a2

−2a1 + 4i
(λξ′−)

(ξB−
s )2

(2a−2a0 + a2
−1)

−
(

1

ζ2−

(
λ

ξB−
s

)2

+ 4
(λξ′−)2

(ξB−
s )4

)
a−1 − 1

4ζ4−

(
λ

ξB−
s

)4
b2

γ2
0

a1 − 2i
1

ζ2−

(λ3ξ′−)

(ξB−
s )4

= 0.

!��"*�$
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����� �� an ��	
�����
��

a−2 = ± 1

2ζ2−

(
λ

ξB−
s

)2
b

γ0
, �������

a−1 = −2i
(λξ′−)

(ξB−
s )2

, �������

a0 = ±γ0

b
, �������

a1 = 4iζ2
−

(
ξ′−

λ

)(γ0

b

)2

. �������

� ���������� �
��� ����� ��� ������

ω = ±�
−1gμBB

(
1 +

�
2csnc

2M(gμBB)2
k2

)
− i

csM

π�3β
k

(
1 − �

2csnc

2M(gμBB)2
k2

)
. ����!�

"��� ���#���� $��
�  %��� %���� � ���&'(�� )#�#����#$ ���#���� �*���+�%�� � ��,

������ �� �� $����- ����%�� �����$�. k → 0 ����%�� /��0��	����-. �#�	 $�� ��	

������� �%������ �
��� ��. ����	�� (gμBB)2 � 2ekcsnc ������� ��� ������ ��� ��,

��� � �*���+�%����� 1�	�� � ���2��,��� �%����� ������� �%������ ���#����� (gμBB)2 �
2ekcsnc ����%� ��. �� �� k3,��� � ��	#�� "� ��� 0������. �#�	 ���� ���#���� ����%�

Ω ∼ k� "� ��#���� ��� ���0��+�� � ����*$����� Ω � 1 3���%���� k → 0 ����%��

2� (gμBB)2 ≈ 2ekcsnc :

"��# Ω,� ��� �
�#� ���� �*���+���
��� /������������� k → 0,� ����
�� 3��. �+�

�	��# ������ k 4�����5� "�� � ����-��%��� 6�	 #��0�� 3��. �#�	 b,� b = b1(kλ) ������

+ 0��. ��#� b1 $%��� ���� 6�	. �#�	 ������ ���� � (gμBB)2 ≈ 2ekcsnc 3���%������� "��# 

�� ��������- � k → 0 3���%���� �� ��-�-���� 7�	������ $%$� Ω,�

Ω =
a−1

(kλ)
+ O ((kλ)0

)
������
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 �
���� �� ���	
 ��

������� ��	�

��� 
��	�� � ������ �����������

a3
−1 + 4i

(λξ′−)

(ξB−
s )2

a2
−1 −

(
1

ζ2−

(
λ

ξB−
s

)2

+ 4
(λξ′−)2

(ξB−
s )4

+
1

4ζ4−

(
λ

ξB−
s

)4
b2
1

γ2
0

)
a−1 − 2i

1

ζ2−

(λ3ξ′−)

(ξB−
s )4

= 0.

������

� �������
� ��	�

�� a−1 = a
(0)
−1 + iα �������� �� a

(0)
−1 = 0 ����	 �!��"#� �#
"��� �!$%

"���
 �������
� �� a
(0)
−1 �= 0 ����	 &����

"�� '��� |α/a(0)−1 | � 1 !
 a

(0)
−1 �������
�

�

a
(0)
−1

2 −
(

1

ζ2−

(
λ

ξB−
s

)2

+ 4
(λξ′−)2

(ξB−
s )4

+
1

4ζ4−

(
λ

ξB−
s

)4
b2
1

γ2
0

)
= 0 ������

������������ (���	

a
(0)
−1 = ±

(
1

ζ2−

(
λ

ξB−
s

)2

+ 4
(λξ′−)2

(ξB−
s )4

+
1

4ζ4−

(
λ

ξB−
s

)4
b2
1

γ2
0

) 1
2

. ����)�

*� a
(0)
−1 = 0 :

(���	 �!��"#� �#
"��� �!$"���
 �������
� �" a−1 = iα%� ��'�������
���� ������%��

!
 α%��� ��
+ 	���#� �����	��� �" �����������

a−1 = −2i
(λξ′−)

(ξB−
s )2

1

1 + 1
4ζ2

−

(
λ

ξB−
s

)2
b21
γ2
0

. ������

� ��	,�
"�!
�

ω = −i
csM

π�3β
k

1

1 + (gμBB)2

2ekcsnc

≈ −i
csM

2π�3β
k, ���-.�

�'�� �#'�
"����/� � (gμBB)2 ≈ 2ekcsnc� (" � ��	,�
"�!
 ��� 
$#�	���0�1#2� �	 ���

�� a
(0)
−1 �= 0�

(���	 a−1 = a
(0)
−1 + iα �#&�,�"!
!� ���	�� !
 �" ���������� α%��� ��
+ 	���#�
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����� 
����������� ��������
�������

�������	�

α = − (λξ′)
(ξB

s )2

1 + 1
2ζ2

−

(
λ

ξB−
s

)2
b21
γ2
0

1 + 1
4ζ2

−

(
λ

ξB−
s

)2
b21
γ2
0

. 
��
��

� ���������� ������

ω = ±
√

csnc

M

(
1 +

(gμBB)2

2ekcsnc

)
k − i

csM

2π�3β
k
1 + 2 (gμBB)2

2ekcsnc

1 + (gμBB)2

2ekcsnc

. 
��
��

���� �������� 	���� ����� � 
����� � !����"#$�	 �������� k → 0 ������� %��&

'������	� � (gμBB)2 ≈ 2ekcsnc (�������� � ����������� ω ≈ c±k − iγk ������

'��'���#�) �'��

c2
± =

2csnc

M
, 
��
*��

γ =
3csM

4π�3β
. 
��
*$�

*� (gμBB)2 � 2ekcsnc :

����� +��#� � 
���,� ��-������� � �.	�����/ ����$��

(
Ω2 + 2i

(λξ′−)

(ξB−
s )2

Ω

(kλ)
− 1

ζ2−

(
λ

ξB−
s

)2
1

(kλ)2

)(
Ω + 2i

(λξ′−)

(ξB−
s )2

1

(kλ)

)

− 1

4ζ4−

(
λ

ξB−
s

)4
b2

γ2
0

Ω

(kλ)4
=0.


��

�

0�����1� Ω&�

Ω =
a−1

(kλ)
+ O((kλ)0) 
��
��

����$��� �����

(
a2
−1 + 2i

(λξ′−)

(ξB−
s )2

a−1 − 1

ζ2−

(
λ

ξB−
s

)2
)(

a−1 + 2i
(λξ′−)

(ξB−
s )2

)
− 1

4ζ4−

(
λ

ξB−
s

)4
b2

γ2
0

a−1

(kλ)2
= 0.


��
2�

3��"���1� � b2&� ���������� ����� 4���#�$� "���� �� � ��������� ������1� � ���#�
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�����������

a
(0)
−1 = −2i

(λξ′−)

(ξB−
s )2

������ 

	�

a
(0)
−1 = ± 1

ζ−

(
λ

ξB−
s

)
− i

(λξ′−)

(ξB−
s )2

. ������ 

!����� � ���"�� ��������� a−1 = a
(0)
−1 + α ������� ��
���#�$ �%�� |α/a

(0)
−1| � 1� !��

��%��&��������� � ����' ��&������� 	� α(��� ���� 
����� �����
����

α = i
1

2ζ2−

(λ3ξ′−)

(ξB−
s )4

b2

γ2
0

1

(kλ)2
����)� 

	�

α = ± 1

8ζ3−

(
λ

ξB−
s

)3
b2

γ2
0

1

(kλ)2
− i

1

4ζ2−

(λ3ξ′−)

(ξB−
s )4

b2

γ2
0

1

(kλ)2
, ����)� 

�%�� α ������������ α b2(��� �
��&�� ������� ��%��&�������$ ��
� α � b2(��� ��


���� 
���*� � ��
"����	� �

ω = ±
√

csnc

M
k

(
1 +

M(gμBB)2

2csnc�
2k2

)
− i

csM

2π�3β
k

(
1 +

M(gμBB)2

csnc�
2k2

)
������ 

	� ��& �+
�
���,�-
�

ω = −i
csM

π�3β
k

(
1 − M(gμBB)2

csnc�
2k2

)
. ������ 

�� ���� �+���
���� �����+"��$ %� � ���./)- 0����
���� ��������� �������"#� �

�������� ��
�� +�
��
��-
��	�� �������$ k → 0 ����	��

1��%���$ %��& � Dzz ��

���-
�� 2#���	�& ������"	��� �	
��%��&��	�� �	���
� ��& �
�����
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���� � ����	 �!
� 	��
��"  �	��#	��� �
����� �� 
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$�
�!� %�� ��

 �

����&��� ���� � 
����	�	 �� ����	������ 
��$�
�
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�
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� (� �	�� ����
���	���
 
��������) �� �� �	 � *� �	���

���� ������	
����� 
���������	� �����

+ 	�����
� �	 ��
� ���#�)� � ��������! �
���� � ���)��,

|cn,s|Π(s)++
++ (k, ω) =

(
λ

ξB
n,s

)2
1

(kλ)2

1

Ω2 − 1
, -.�.��/

|cn,s|Π(s) 0+
+ 0 (k, ω) =

γ0

(kλ)2(Ω − 1) − γ̃
, -.�.��/

|cn,s|Π(s)−+
+− (k, ω) =

γ0

(kλ)2(Ω − 1) − 2γ̃
. -.�.�#/

+ 0( $���		�
 �

�������� �� �		��	  ���
� �	 ��
� ���#�) 
� ��
 $�� 
���������� ��	��� �

� ��� 	������� ���� ��
 �������� 
���

+  ���
� �	 ��
� ���#�) �
���� $&�� ���)
 �	� ���� 
�
��� �� ��
������ ���	��
��� � �� �

��	���	�� 1� ��
��	&
 � σs = σr = σ $�
����
� ���� �� ��
����� �!
� 	��
��� �� ��
������

-ξB
n,s � ξ′, λ/

|cn,s|Π(r)sr
rs (k, ω) =

i

2

(λξ′)
(ξB

n,s)
2

1

(kλ)
ln

(
Ω − 1 + 2i

√
σ

(kλ)

Ω + 1 + 2i
√

σ
(kλ)

)
, -.�.�/

���
 ��
��	&
��� ��

 � √
σ

Ωkλ
� 1 -.�.(/

$�
����
��� �	 23.4� %���
 $�  �
����	�	 �	����� � 	������� ���� �&
�������� ���
�	�)
�

��� � �  ���
� �	 ��
� ���#�)� ���&
 � $������ #	�� � �������
�	�� � ��
��	&
���� ���� r = s

�	������ 5������ ����	���
�� � |Ω| � 1 $�
����
�

|cn,s|Π(r)rr
rr (k, ω) = −i

(λξ′)
(ξB

n,s)
2

1

(kλ)

1

Ω

(
1 − 2i

√
σr

Ωkλ

)
, -.�.*/
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 � �������
 ��
���	 � ������ ����� ��������� ���� �		�� ������

�����	

|cn,s|Π(r)++
++ (k, ω) = −i

(λξ′)
(ξB

n,s)
2

1

(kλ)

1

Ω
, ���� �!

|cn,s|Π(r) 0 0
0 0 (k, ω) = −i

(λξ′)
(ξB

n,s)
2

1

(kλ)

1

Ω

(
1 − 2i

√
γ̃

Ωkλ

)
, ���� �!

|cn,s|Π(r)−−
−− (k, ω) = −i

(λξ′)
(ξB

n,s)
2

1

(kλ)

1

Ω

(
1 − 2i

√
2γ̃

Ωkλ

)
. ���� "!

# �$�	�
�
 $�������$
 �%������	� ���� ��� �$�&��� ���' ��	 �$�' ���&�
���
 (�$

 ��)���

��&���� )� ��	�&$�*� � �����$��
 �������$"��� &�� �%���+�� �

|cs|Πrr
rr(k, ω) = − λξ′

(ξB
s )2

[
1

2
√

π
F

(
1

2

∣∣∣∣ σr

)
+ i

Ωkλ

4σr

]
�����!

����&���
� ����' ���	 �
����	 ����� ������ kλ � 1� |β�ω| � kλ �
 |β�ω| � 2
√

σrkλ� #

�������
� �����$��
 �������$"��� �,��	�� �� Ω �%������	 ����&$��� ( �*� -� � �����
$
�

Ω = a−2

(kλ)2
+ a0 + O((kλ)2) ������	 ����

,�� �����

|cs|(Π(r)0+
+0 + Π

(r)−0
0− ) =

C− − C+

γ̃ − a−2
+

[
2γ0 + C+ + C−

(γ̃ − a−2)2
+

a0

(γ̃ − a−2)2
(C− − C+)

+
D− − D+

(γ̃ − a−2)3

]
(kλ)2 + O((kλ)4),

����.!

����

C+ =
(λξ′)
(ξB

s )2

Γ
(

3
2

)
F
(

3
2

∣∣ 0)
π

, ����/�!

C0 =
(λξ′)
(ξB

s )2

Γ
(

3
2

)
F
(

3
2

∣∣ γ̃)
π

, ����/�!

C− =
(λξ′)
(ξB

s )2

Γ
(

3
2

)
F
(

3
2

∣∣ 2γ̃)
π

, ����/"!
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D+ =
(λξ′)
(ξB

s )2

4Γ
(

5
2

)
F
(

5
2

∣∣ 0)
3π

, ������	

D− =
(λξ′)
(ξB

s )2

4Γ
(

5
2

)
F
(

5
2

∣∣ 2γ̃)
3π

. �����
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�

γ̃ = γ0 + C+ − C− + b, �����	

��
� γ̃�� �����	 �
��������

������ �����	
��

�� 	� ���������	
��

�� �����

� �������� ���! �� �"���������� ���! �
��
�#���
�
� ��� ����
!��$%�� ��� � !
�� �#


�$�� �# ��!
�
�� �&!������
� ����
!��$ �ξB
n,s � ξ′λ	' � !���� � ������ (
�
#
�%
� ����$���

!���
�
� ������ ��� ������ � "
������� �)��$
#
�
� � !���
�
� ������ ��� �#
�
� ��"*�

�
���%�� ��� � �
���� ������� �"��+ �� �*�,����' �!
�$
� � �-�-�%	 )��#
��#�%��$ �� ��(
�
#�

�!.� cn/cs /��
�' ����� � �������� ���! �� �"���������� ���! !,� �
� )��#
��"*�
�,��

���' cn/cs → ∞ 
�
��� � �������� ���!�
# ����
#, �
��
��*�,� (0��/��$ �#
�
��� #�� �

�
�#' *��� � �"����������� ���!%�� �
�# �
��
�#����

�� �������� 	
���
������ ����������

�#
� �
��
�#���
� �"
��� !�� � �-��1�	 ��(
�
#�� #�� ��
�$
� �����' �#�#

(1 − cnΠnn)(1 − csΠzz) − cncsΠ
2
nz = 0. ����1	

2
.�/� � "
����#�*�,� ��(
�
#����3

(
1 + 3i

(λξ′)
(ξB

n )2

1

(kλ)

1

Ω
+ 2(1 +

√
2)

(λξ′)
(ξB

n )2

√
γ̃

(kλ)2

1

Ω2
−
(

λ

ξB
n

)2
1

(kλ)2

1

Ω2

)
(

1 − 2i
(λξ′)
(ξB

s )2

1

(kλ)

1

Ω
− 2

√
2

(λξ′)
(ξB

s )2

√
γ̃

(kλ)2

1

Ω2
+

(
λ

ξB
s

)2
1

(kλ)2

1

Ω2

)

+

(
2
√

2
(λξ′)

(ξB
n ξB

s )

1

(kλ)2

1

Ω2

√
γ̃ +

λ2

ξB
n ξB

s

1

(kλ)2

1

Ω2

)2

= 0.

���4�	
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Ω =
a−1

(kλ)
+ O((kλ)0) ������

�	����� ������� �� a−1�
 �����
����� �����	�
�

a4
−1 + i

(
3

(λξ′)
(ξB

n )2
− 2

(λξ′)
(ξB

s )2

)
a3
−1+

+

[
6

(λξ′)2

(ξB
n ξB

s )2
+
√

γ̃

(
2(1 +

√
2)

(λξ′)
(ξB

n )2
− 2

√
2

(λξ′)
(ξB

s )2

)
−
(

λ

ξB
n

)2

+

(
λ

ξB
s

)2
]

a2
−1

+i

(
5

(λ3ξ′)
(ξB

n ξB
s )2

− 2(2 + 5
√

2)
(λξ′)2

(ξB
n ξB

s )2

)
a−1

+2(1 + 4
√

2)
λ3ξ′

(ξB
n ξB

s )2

√
γ̃ − 4

√
2

(λξ′)2

(ξB
n ξB

s )2
γ̃ = 0.

������

 ���
! ���
��� �� �����	�
 �O
(

ξ′

ξB
n,s

)
�
 �	�������	����

a4
−1 −

((
λ

ξB
n

)2

−
(

λ

ξB
s

)2
)

a2
−1 = 0. ������

"���� � ����	
��� #$$�� � %���	&'��� ����	
�� 	����

a
(0)
−1

2
=

(
λ

ξB
n

)2

−
(

λ

ξB
s

)2

. ����(�

� a
(0)
−1 = 0 ����	
�� ��� 
)	 #�
����* �&���� � %���	&'��� ����	
����� �����
�#��

������+&�� 
�����
 �����
�����&�
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� �����	 
����
�	� a−1 = a
(0)
−1 + α ������� ����	��� 
��
 ��� ������ ������ ����������

�	 α ��� ��	! ���
" ������� 
��������#

α = − a
(0)
−1

(
ξ′

λ

)
2

((ξB
s )2 − (ξB

n )2)2

[
(1 +

√
2)(ξB

n )4 + 2
√

2(ξB
s )2(ξB

s )2 +
√

2(ξB
s )4
]√

γ̃

− i

{
1

2

(λξ′)
(ξB

n ξB
s )2((ξB

s )2 − (ξB
n )2)

(3(ξB
s )4 + 2(ξB

n )4) − 1

2

(ξ′)2

(ξB
n ξB

n )2((ξB
s )2 − (ξB

n )2)3

√
γ̃×[

9(1 +
√

2)(ξB
s )8 − (10 − 8

√
2)(ξB

s )6(ξB
n )2 + (6 − 5

√
2)(ξB

s )4(ξB
n )4 + 2

√
2(ξB

s )2(ξB
n )6

+ 6
√

2(ξB
s )8
]}

.

������

� �����	���	 	$����%
�#

ω = ±
√

(cn + cs)nc

M
k

(
1 − M

3
2

√
γ̃√

2π�3ncβ
3
2

(1 +
√

2)c2
n −√

2cncs +
√

2c2
s

c2
n + c2

s

)

− i

[
M

4π�3β

3c2
n + 2c2

s

cn + cs

−
√

2M
5
2

√
γ̃

16π2nc�
6β

5
2

9(1 +
√

2)c4
n + (10 − 8

√
2)c3

ncs + (6 − 5
√

2)c2
nc2

s − 2
√

2cnc3
s + 6

√
2c4

s

(cn + cs)3

]
k ≈

±
√

(cn + cs)nc

M
k

(
1 − 1 +

√
2√

2

cnM
3
2

√
γ̃

πnc�
3β

3
2

)
− i

(
3cnM

4π�3β
− 9

√
2(1 +

√
2)

16

cnM
5
2

√
γ̃

π2nc�
6β

5
2

)
.
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����
� ��	
��
��

�� � �����	�	 �
���
���	 
�������
�

()	�* �  �����%����'�'��	 ��� �� �cn/cs → ∞�� �
	����� 
 ������
� �)������� ��	"

!����+ ����� ���� ���
 � D
(n)
zz ,�-�-.�/ �
����
%��� 0#		���& ������ ��!�$ ����&



���� ������	
����� 
���������	� ����� ���

��������	
 ����
 � Dnn ����������
�
 ����������	����

Πnn − cs

(
ΠnnΠzz − Π2

nz

)
= 0. ������

����������� ��� � �!���	��"	� ������ 
	#�������� � 
$���
��% ����
����� 
��� ���!�&�
	�

P + Q + R + cs [Q(P + R) + 4PR] + i [p + q + r

−cs(Q(p + r)+ q(P + R) + 4(Pr + pR))] (Ωkλ) + cs [q(p + r) + 4pr] (Ωkλ)2 = 0,

����'�

��!�

P = − λξ′

(ξB
s )2

1

2
√

π
F

(
1

2
, σ+

)
, ����(�

Q = − λξ′

(ξB
s )2

1

2
√

π
F

(
1

2
, σ0

)
, ������

R = − λξ′

(ξB
s )2

1

2
√

π
F

(
1

2
, σ−

)
. ������

)��
 � 
	#�������
 ����
 ��������
�
 �� ����� �������	� �!���	��"	�
 �iωn* k → 0�+

,�
 ���� ���������
�	
�
* ��!�� ��� ��� � -�.� #������ �-�-/� ����
����	,�
 	� #�� ���
�

0 p* q* r 
	#�������	 � 
$���
��%�
 ����
�
�

p = −i
λξ′

(ξB
s )2

1

4σ+

, ����/�

q = −i
λξ′

(ξB
s )2

1

4σ0

, ����.�

r = −i
λξ′

(ξB
s )2

1

4σ−
. ����-�

������

0 ����'� ����
��� 
$������
 ���!�&���� (Ωkλ)+�� �� � ���!�&��!
 �	����
 
��������


����
�
� 0� ���	
 ���!�&�� �����
 ����!�	
 � #��	������
���� �!
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� �
���
� � ��
�
��	 �������� ���� �����
 � ��������� �
���� �
�
�

ω = −i
λ

β�

P + Q + R + cs [Q(P + R) + 4PR]

p + q + r + cs [Q(p + r) + q(P + R) + 4PR]
k. ��� �!

���� �
"�#��$	 	���
�
�#� �����%��
� � ��������� �$	��&	��	���	$� ��

��� ���� 	��	�'

&���
�


��	 �(�((! ������#$��
) ���� ��
���� �
���
� � "��
	���
���
�	 ����#�����

������ �����	

�� �
�	�

* ���#�	��$	 	��������� � �(� +
! ��%��
�� �$��	,�
%� �-#��

1 − cs(Π
(r)0+
+0 + Π

(r)−0
0− + Π

(s)0+
+0 ) = 0. ���  !

* ����
-�	�

Ω =
a−2

(kλ)2
+ a0 + O((kλ)2) ��� .!

�
����� ����		/�� ����� � 	�
���
��
	 ��
��
��&
� �� �
���
 ��-�� ����
��,����

|cn,s|Π(s)0+
+0 (k, ω) =

γ0

(kλ)2(Ω − 1) − γ̃
= − γ0

γ̃ − a−2
+

γ0(1 − a0)

(γ̃ − a−2)2
+ O((kλ)4). ��� +!

��� $	 � ����
��
	 ��
��
��&
�� �����! �
"�#��$	$� "�
,�	���
��

1−γ0 − C− + C+

γ̃ − a−2
+

[
(1 − a0)γ0 + 2C0 + C+ + C− + a0(C− − C+)

(γ̃ − a−2)2
+

D− − D+

(γ̃ − a−2)3

]
(kλ)2 = 0.

���.�!

*� an ��%/��,������ ���,������� ��%��
�����

a−2 : 1 − γ0 − C− + C+

γ̃ − a−2

= 0, ���.��!

a0 : (1 − a0)γ0 + 2C0 + C+ + C− + a0(C− − C+) +
D− − D+

γ̃
= 0. ���.��!



���� ������	
����� 
���������	� ����� ���

����� �� an �	
���
����

a−2 = γ̃ − (γ0 + C+ − C−) = b, �������

a0 =
(γ0 + C+ − C−)(2C0 + C+ + C− + γ0) − D+ + D−

(γ0 + C+ − C−)2
. �������

� 	��������� ��
���

ω = ωL +
�

2k2

2M∗ , ������

�
� 

M∗ =
M

a0
����!�

�� �"���#$ �%&�	� '����� &�	 a0 $(�� ��)����* 
� T → 0� +���� C+, C0, C−, D+, D− ∝ T *

&#	 γ̃, γ0 → |cs|N(T=0)
kBT

� ,%��
��  ��
���* 
�	
 ����� a0 → 1 �� $(������-�.� � /�	� (.��$

&�	� )����

������ ����	
��
�	������


�� ���
�

+��� 	��������� �-����.&�� �

Π−+
+− = Π

(r)−+
+− + Π

(s)−+
+− ������

�(0������ -� .��( �)���� � Π
(s)−+
+− 1��� -� .�� $�� ��

Ω = 1 +
2γ̃

(kλ)2
����2�


� 
��� 3	
������ � 
� 
�� � ��	. ��(� -� ��(��4(����  �	��(�&(�.� ��(�	. ��(���� $��*

.	
��(� � Π
(r)−+
+− (&�	(���(.� ������

ImΠ
(r)−+
+− =

M2

4π�4kβ
ln

⎛
⎜⎜⎝

1 − exp

[
− (kλ

2

)2 (
Ω − 1 − 2γ̃

(kλ)2

)2
]

1 − exp

[
− (kλ

2

)2 (
Ω + 1 − 2γ̃

(kλ)2

)2
]
⎞
⎟⎟⎠ . ������
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� �����	
��	 	
������� ������

ω = 2�
−1(�ωL − csm) +

�
2k2

2M
. ������

�
 ����	� ��� ����	 	
�����	���� � ��������	 
�����
���� � 
��!��	� ����� ����	" �� �����	#�

�
(kλ)2

Δγ
� 1 ����$�

%�������" ���� Δγ = γ̃ 	
�������� ����	�� �	 Δγ = 2γ̃ �&����
����'	
�������� ����	���

� %������� ��(�������) �

k �
√

4M(�ωL + |cs|m)

�
���$��

��%���
�		���

*���	��� � �����	�	 ������ 
���	��
+ ,���� %���������	�	 �	��-�� &�		
���
��� ./�0 ����'

���(���� 1�����	 � ��	 �����	 �	���� � 12 %�
�	-�� ��( ���	�� ��	 � ���(
��� 3�� �	 &�		
�'

��
��� � ����	����" �� �

�� � �#� �-	�����" ���( ��(���--�� � ����������	 %#��&��(-4�

��	'��	 	
������ ������" �� ��	'��	 	
����� ��	
������� ,���� � &����
��-�� �������

��� 
�� �&����
����'	
�������� ����	� 5� ����	 ����� ��� ������� ���" �	�� � 	
�������

%#��4�� � 	
�������� ��	'��	 ����������	 %#��&��(��
 �	����������

���� �����	
 ���

������
 �
���� �� ���	


� ��2��" ��2�2 �	 ��2�6 %���
����-�� ����(����� � 
�����	 � ��	 �����	 1� %�
�	�-�� �	 ��&�'

�(�	�� �
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 ������ �'
'��� �����$��( �'�"�'�#��
� 	�(������	� )cs* 	�(�	�	 �	�#��
��

� �

�	���
	� ���	��	������ ���	� �	��	�	�(	� �	�
��#	�$�� ���
��� )cs > 0* ���	��	 �	����
�

��	�	� �'�"�'�#��
��&� )cs < 0*� �
 
������	��	��	� ��
��
���� �
� �������! #��� ���
���

�'�"�'�#��
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��� �	�	������	� ��� �

�� ���	
�� � B − T �
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�
 	�����	� � ����	�

��� ������� ��� �	�
���� ������	���	� )+, �

��*! � �
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	�� �	�
���� ������	���	� )+- �

��* �	��	��	
��� � +, �

�� � +- �

���� 	�� ���������

�

��
�������
���� �	�� 
� �� � �	���������	� � − ������
����� �	�( ����	�

�� ������

�������	 Ψ−� � ��� �

��� � B − T �

������	� 	�� ����� �
���
��� 	�! ��	�� 	�� �����

����
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�
�

� G−−
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�
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������ ���������� ��
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�������� �����	� � +���	�����,�	��� 
��������������� � $��$�� ��

�
$��$�� ������	�������� ,�	 �������" .��	 ������
�� /�����%��, �����������	 � �"0"

����	 ������
��"

� ������
���� ���������,� � 
�������� ������	������ � ��,������ ������ �����1

Σ̃rs
αγ = �

−1[(μ0 − μ)δrs − �ωL(Fz)rs + ncζ
†
r′V

r′s′

rs ζs′]δαγ , ��"23� 

Σ̃s
01 = �

−1[−(μδrs + �ωL(Fz)rs)ζ
†
r + ncζ

†
r′ζ

†
rV

r′s′

rs ζ†
s′]n

1
2
c , ��"23� 

M rs
11 = (M rs

−1−1)
† = �

−1ncζ
†
r′ζs′V

rs′

r′s , ��"23� 

M rs
1−1 = (M rs

−11)
† = �

−1ncζs′ζr′V
rs′

sr′ , ��"23� 

���� nc � ��	��	���%
 �!�!����� ������" � ��	�� ����������� ������	����� ����	 �� ������
�

��	� ���� � �$�	��� ����������� ����4	�� ,����������%� 
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�������	�
 ��
������	�� ���� �
��������� �������	����� ������
����� ������ ���� ���� �� �

������ !����"�#��
�� �� ���$�����
��� ���� � %&'& �	�� ����(�� ���� ���� �����$�����)

Π
(s)sr
r′s′ (k, iωn) = �

−1nc[ζ
†
rζr′Gss′

11 (k, iωn) + ζ†
s′ζsGr′r

−1−1(k, iωn)]. �%&*��

% ��
�		���	�� �����#�� � ������� �� ������������� ������ 
�
���������&

���� �����	
 ���

������
 �
���� �� ���	


+������ �������$���� ������ � ������
����� �������$���� �����#��, ���(�	�� �
�����, ���"

����$����� ������� ��
���
 �cs > 0�& % ������� ζr =

⎛
⎜⎜⎜⎝

ζ+

0

ζ−

⎞
⎟⎟⎟⎠ ����	�� �����
� � ��&�-�

���
��
������ ��������� �� � ζ2
+ + ζ2

− = 1 ��������� ��������� ��������
� ���(��� $�� 

μ = cnnc, �%&*'��

ζ± =

[
1

2

(
1 ± �ωL

csnc

)] 1
2

. �%&*'	�

s

γ

r

α

∑̃rs

αγ

=
s

γ

r

α
+

r

α

s

γ

r′ s′

,

r

∑̃s

01

=
r

s +
r

s′ r′

s

,

s

γ

r

α

M rs
αγ

=
s

γ

r

α

r′

s′

.

%&�& �	��& % ������ �� �������� ��(���������� �������	�
"��
������	��



�� ���������	
��
������ ���

r

s

r′

s′
=

r r′

s s′
+

s s′

r r′

���� ����� � 	
��
�����	 ������
���� ����
���	�

�������� ��
� �
�� 	����� ����
�	���� ����������� ��������� �
� ��
� �ωL ≤ csnc� �

��
��	�	 ����� ������� � ��� �!���	������� ��
� � �!���	������� ������� � ��� ��
��	�	

��� ������� � 	����� �������! �
 ζr =

⎛
⎜⎜⎜⎝

1

0

1

⎞
⎟⎟⎟⎠"��� ��� �
� ��
�	���������	� #����� � ������	

�	 � �������
��	�	 ��
�	 ��
���� $

�� � ��	!�������� ��	
����	�� ��
�����
����

� %��&�' ����#�
�	���� ����������	(��� � ������ 	�#������
��� ����#�
�	���� �
� ���#���

��
� �
�� ���)���� %������ � μ0  ��
�����	 ��
��� ����� ��� ��
��� ��
�	��� 	
����� ���)"

���'� (
� � ������ *����"�+

������ � 	
��� ��	
��	�� *����"�+

������ ��	
���,

G̃rs
αγ =

δrsδαγ

αiωn − �−1ek

. %��&-'

�
 ��!
!�� �	��������� � %��&��'� %��&� ' ����#�
�	�� 	�
(�	�
���� �
 �������� 	�#������"


��� �����.��,

M
(1)
γδ = �

−1

⎡
⎢⎢⎢⎢⎢⎢⎣

(cn+cs)ncζ2
+ (cn+cs)ncζ2

+ (cn−cs)ncζ+ζ− (cn−cs)ncζ+ζ−

(cn+cs)ncζ2
+ (cn+cs)ncζ2

+ (cn−cs)ncζ+ζ− (cn−cs)ncζ+ζ−

(cn−cs)ncζ+ζ− (cn−cs)ncζ+ζ− (cn+cs)ncζ2
−

(cn+cs)ncζ2
−

(cn−cs)ncζ+ζ− (cn−cs)ncζ+ζ− (cn+cs)ncζ2
−

(cn+cs)ncζ2
−

⎤
⎥⎥⎥⎥⎥⎥⎦

γδ

, %��&/�'

M
(2)
γδ = �

−1

⎡
⎣ csnc 2csncζ+ζ−

2csncζ+ζ− csnc

⎤
⎦

γδ

. %��&/�'

� �������� 	�#������
��� �	��������� � *����"�+

�������� ��
������#��� �� �����	
���"



��� ��������

��� � ����	
�� �
���� �� �
���� �������������

G(1)
γδ =

1

Δ(1)(k, iωn)

⎡
⎢⎢⎢⎢⎢⎢⎣

A1(k,iωn,�ωL) C1(k,iωn,�ωL) B1(k,iωn,�ωL) D1(k,iωn,�ωL)

C1(k,iωn,�ωL) A1(k,−iωn,�ωL) D1(k,iωn,�ωL) B1(k,iωn,�ωL)

B1(k,iωn,�ωL) D1(k,iωn,�ωL) A1(k,iωn,−�ωL) C1(k,iωn,−�ωL)

D1(k,iωn,�ωL) B1(k,iωn,�ωL) C1(k,iωn,−�ωL) A1(k,−iωn,−�ωL)

⎤
⎥⎥⎥⎥⎥⎥⎦

γδ

,

�
�����

����

A1(k, iωn, �ωL) = (iωn)3 + �
−1

[
ek +

1

2
(cn + cs) nc

(
1 +

�ωL

csnc

)]
(iωn)2

−�
−2

[
e2
k + ek (cn + cs) nc

(
1 − �ωL

csnc

)]
(iωn)

−�
−3

[
e3
k +

1

2
(cn + cs)nce

2
k

(
3 − �ωL

csnc

)
+ 2ekcncsn

2
c

(
1 −
(

�ωL

csnc

)2
)]

,

B1(k, iωn, �ωL) =
1

2
�
−1 (cn − cs)nc

[
1 −
(

�ωL

csnc

)2
] 1

2 (
iωn + �

−1ek

)2
,

C1(k, iωn, �ωL) = −1

2
�
−1 (cn + cs) nc

(
1 +

�ωL

csnc

)
(iωn)2

+�
−3

[
1

2
e2
k (cn + cs)nc

(
1 +

�ωL

csnc

)
+ 2ekcncsn

2
c

(
1 −
(

�ωL

csnc

)2
)]

,

D1(k, iωn, �ωL) =
1

2
�
−1 (cn − cs)nc

[
1 −
(

�ωL

csnc

)2
] 1

2 (−(iωn)2 + �
−2e2

k

)
,

Δ(1)(k, iωn) =
[
(iωn)2 − �

−2
(
e2
k + ek (cn + cs)nc

)]2
−�

−4e2
kn

2
c

[
(cn + cs)

2 − 4cncs

(
1 −
(

�ωL

csnc

)2
)]

, �
���
�



�� ���������	
��
������ ���

��

G(2)
γδ =

1

Δ(2)(k, iωn)

⎡
⎣ A2(k, iωn, �ωL) B2(k, iωn, �ωL)

B2(k, iωn, �ωL) A2(k,−iωn, �ωL)

⎤
⎦

γδ

, ����	
�

�
��

A2(k, iωn, �ωL) = iωn + �
−1(ek + csnc),

B2(k, iωn, �ωL) = −�
−1csnc

[
1 −
(

�ωL

csnc

)2
] 1

2

,

Δ(2)(k, iωn) = (iωn)2 − �
−2
[
e2
k + 2ekcsnc + (�ωL)2] . ����	��

� �������
��� ������������ � ������� ��� !�� ��� �� �� ���  � ����"�#���� ��"�� $��� %#��&

������ ��� � '�����#�
��� ����"�#������ �$����� $��� 
��� �#���(����� '�����#�
����� ������&

$�#���)

Πnn = Πzz = Π
(s)++
++ + Π

(s)−−
−− , ����*��

Πnz = Π
(s)++
++ − Π

(s)−−
−− , ����*+�

ΠnQ = 2
(
Π

(s)++
+− + Π

(s)−−
+−

)
, ����*
�

ΠzQ = 2
(
Π

(s)++
+− − Π

(s)−−
+−

)
, ����*��

Πn−Q = 2
(
Π

(s)++
−+ + Π

(s)−−
−+

)
, ����*��

Πz−Q = 2
(
Π

(s)++
−+ − Π

(s)−−
−+

)
, ����*��

ΠQQ = 4Π
(s)−+
+− , ����*��

ΠQ−Q = 0, ����*
�

Π−Q−Q = 4Π
(s)+−
−+ , ����*��



��� ��������

Π++ = 2
(
Π

(s)0+
+0 + Π

(s)−0
0−

)
, ������	

Π+− = 2
(
Π

(s)0+
−0 + Π

(s)−0
0+

)
, �����
	

Π−− = 2
(
Π

(s)0+
+0 + Π

(s)−0
0−

)
, ������	

�
��

Π
(s)++
++ =

�
−2eknc

(
1 + �ωL

csnc

)
(iωn)2 − �−2e2

k

, ������	

Π
(s)−−
−− =

�
−2eknc

(
1 − �ωL

csnc

)
(iωn)2 − �−2e2

k

, ������	

Π
(s)++
+− = Π

(s)−+
++ = Π

(s)+−
−− = Π

(s)−−
−+ =

1
2
�
−1nc

[
1 −
(

�ωL

csnc

)2
] 1

2

−iωn − �−1ek

, ������	

Π
(s)++
−+ = Π

(s)+−
++ = Π

(s)−+
−− = Π

(s)−−
+− =

1
2
�
−1nc

[
1 −
(

�ωL

csnc

)2
] 1

2

iωn − �−1ek

, ������	

Π
(s)+−
−+ =

�
−1nc

(
−iωn

�ωL

csnc
+ �

−1ek

)
(iωn)2 − �−2e2

k

, ������	

Π
(s)−+
+− =

�
−1nc

(
iωn

�ωL

csnc
+ �

−1ek

)
(iωn)2 − �−2e2

k

, ������	

Π
(s)+0
0+ =

1
2
�
−1nc

(
1 + �ωL

csnc

)
−iωn − �−1ek

, ������	

Π
(s)0+
+0 =

1
2
�
−1nc

(
1 + �ωL

csnc

)
iωn − �−1ek

, �����
	

Π
(s)0−
−0 =

1
2
�
−1nc

(
1 − �ωL

csnc

)
iωn − �−1ek

, ������	

Π
(s)−0
0− =

1
2
�
−1nc

(
1 − �ωL

csnc

)
−iωn − �−1ek

, ������	



�� ���������	
��
������ ���

Π
(s)+0
0− = Π

(s)−0
0+ =

1
2
�
−1nc

[
1 −
(

�ωL

csnc

)2
] 1

2

−iωn − �−1ek

, ������	

Π
(s)0+
−0 = Π

(s)0−
+0 =

1
2
�
−1nc

[
1 −
(

�ωL

csnc

)2
] 1

2

iωn − �−1ek

. �����
	

� ��

� ������
���� ��
�������� �������� ������ ����� � ���������

�� ������

�� �!�"#

����
#������

�� �� $�%�
 �$�$�������$
����� &'��!��%$�(

Dnn(k, iωn) = 2�
−1eknc

(iωn)2 − �
−2ek(ek + 2csnc) + 2�

−2ek
(�ωL)2

csnc

Δ(1)
, ������	

Dnz(k, iωn) = 2ek

ωL

cs

(iωn)2 − �
−2e2

k

Δ(1)
, �����
	

Dzz(k, iωn) = 2�
−1eknc

[
(iωn)2 − �

−2ek(ek + 2cnnc) + 2�
−2ek

cn

cs

(�ωL)2

csnc

]
Δ(1)

, ������	

DnQ(k, iωn) = 2�
−1eknc

[
1 −
(

�ωL

csnc

)2
] 1

2
(iωn)2 − 2ωL(iωn) − �

−2ek(ek + 2csnc)

Δ(1)
,

�����"	

DzQ(k, iωn) = 2nc

[
1 −
(

�ωL

csnc

)2
] 1

2 −(iωn)3 + �
−2ek(ek + 2cnnc)(iωn) + 2�

−2e2
k

cn

cs
ωL

Δ(1)
,

�����$	

Dn−Q(k, iωn) = DnQ(k,−iωn), �����&	

Dz−Q(k, iωn) = DzQ(k,−iωn), ������	



��� ��������

DQQ(k, iωn) = 4nc

{
�ωL

csnc

(iωn)3 + �
−1

[
ek + csnc

(
1 −
(

�ωL

csnc

)2
)]

(iωn)2

− �ωL

csnc
�
−2
[
e2
k + 2(cn + cs)ncek

]
(iωn) + �

−3e2
k

[
cnnc

(
1 −
(

�ωL

csnc

)2
)

− 2(cn + cs)nc

]

− 2�
−3ekcncsn

2
c

(
1 −
(

�ωL

csnc

)2
)}

/Δ(1), �������

DQ−Q(k, iωn) = 4�
−1nc

[
1 −
(

�ωL

csnc

)2
]

[−csnc(iωn)2 + �
−2cnncek(ek + 2csnc)]

Δ(1)
, �����	�

D−Q−Q(k, iωn) = DQQ(k,−iωn), �����
�

D++(k, iωn) = 2nc

�ωL

csnc
(iωn) + �

−1ek + �
−1 (�ωL)2

csnc

Δ(2)
, �������

D+−(k, iωn) = 2nc

�
−1ek

[
1 −
(

�ωL

csnc

)2
] 1

2

Δ(2)
, �������

D−−(k, iωn) = D++(k,−iωn). �����
�

���� ������	
����� 
���������	� �����

�����
������� ������� � ������������	 ������� ������� �cs < 0� �� � ζr =

⎛
⎜⎜⎜⎝

1

0

0

⎞
⎟⎟⎟⎠ � 	���

�	������	 � �!��"� ���#	�#����	� $�������� μ = (cn + cs)nc − �ωL ��
	�	  �����	�� 
������� �

 �� �� ��
�������	�� � ������� ��%������&� �� ������ 
��'

Σ̃++
αγ = �

−1μ0δαγ , ����((��

Σ̃00
αγ = �

−1(μ0 − csnc + �ωL)δαγ , ����((��

Σ̃−−
αγ = �

−1(μ0 − 2csnc + 2�ωL)δαγ . ����((��



�� ���������	
��
������ ���

����� � ��	��� 
������
���������

G̃++
αγ (k, iωn) =

1

αiωn − �−1ek

, ��������

G̃00
αγ(k, iωn) =

1

αiωn − �−1(ek − csnc + �ωL)
, ��������

G̃−−
αγ (k, iωn) =

1

αiωn − �−1(ek − 2csnc + 2�ωL)
. ��������

�� ����	��� ��� !������ ��

M
(1)
γδ = �

−1

⎡
⎣ (cn + cs)nc (cn + cs)nc

(cn + cs)nc (cn + cs)nc

⎤
⎦

γδ

, �����"��

M
(2)
γδ = �

−1

⎡
⎣ csnc 0

0 csnc

⎤
⎦

γδ

, �����"��

M
(3)
γδ = 0. �����"��

#�$%���� $�� �&�����' ������� �� �����"� ������������! � 
����(�
�������� � �)��!���*

�$��	��! )$!�����

G(1)
αγ =

1

Δ(1)

⎡
⎣ iωn + �

−1[ek + (cn + cs)nc] −�
−1(cn + cs)nc

−�
−1(cn + cs)nc −iωn + �

−1[ek + (cn + cs)nc]

⎤
⎦

αγ

, �����+��

G(2)
αγ =

⎡
⎣ 1

(iωn)−�−1(ek+�ωL)
0

0 1
−(iωn)−�−1(ek+�ωL)

⎤
⎦

αγ

, �����+��

G(3)
αγ =

⎡
⎣ 1

(iωn)−�−1(ek−2csnc+2�ωL)
0

0 1
−(iωn)−�−1(ek−2csnc+2�ωL)

⎤
⎦

αγ

, �����+��



��� ��������

���� �	
	�	��
� �

Δ(1) = (iωn)2 − �
−2[e2

k + 2ek(cn + cs)nc] �������

���	�	�����

� ����	������ �
��
���	�	� � ��� �� ���	�	���	� �!��� "	�� #��	� ��
����
�� �	�� �

$�������������%

Πnn = Πzz = Πnz = Π
(s)++
++ , �����&��

Π++ = 2Π
(s)0+
+0 , �����&��

Π−− = 2Π
(s)0+
+0 �����&��

ΠQQ = 4Π
(s)−+
+− , �����&!�

Π−Q−Q = 4Π
(s)+−
−+ , �����&	�

�����&��

����

Π
(s)++
++ =

2�
−2eknc

(iωn)2 − �−2e2
k

, �����'��

Π
(s)0+
+0 =

�
−1nc

iωn − �−1(ek − csnc + �ωL)
, �����'��

Π
(s)+0
0+ =

�
−1nc

−iωn − �−1(ek − csnc + �ωL)
, �����'��

Π
(s)−+
+− =

�
−1nc

iωn − �−1(ek − 2csnc + 2�ωL)
, �����'!�

Π
(s)+−
−+ =

�
−1nc

−iωn − �−1(ek − 2csnc + 2�ωL)
. �����'	�

� �(��� �����)����� $���������� �������� ���)�� #�	� )��� � �
�(��(�* ����	������ �
��
�+

��	�%

Dnn(k, iωn) = Dnz(k, iωn) = Dzz(k, iωn) =
2�

−1eknc

(iωn)2 − �−2[e2
k + 2ek(cn + cs)nc]

, �����,��



�� ���������	
��
������ ���

D++(k, iωn) =
2nc

(iωn) − �−1(ek + �ωL)
, �������	

D−−(k, iωn) = D++(k,−iωn), ������
	

DQQ(k, iωn) =
4nc

(iωn) − �−1(ek − 2csnc + 2�ωL)
, �������	

D−Q−Q(k, iωn) = DQQ(k,−iωn). �������	

���� ������	
� ��
����	���� ����������������
	�����

� 
����
��� �����������
 ���
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